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‘Who was the Indian king who had captured parts of Afghanistan ?

. Maharaja Ranjit Singh
. Chhatrapati Shivaji

. Maharaja Gulab Singh
. Maharana Pratap

(1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=7801]
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QBID:190002

Battle of Haldi Ghati was fought between :-

. Babar and Maharana Pratap

. Akbar and Maharana Pratap

. Aurangzeb and Maharana Pratap
. Adil Shah and Maharana Pratap
(1) 1

(2) 2

3) 3

(4) 4
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4[Option ID=7808]
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Which Treaty ended the Thirty years war in Europe ?

. Treaty of Versailles

. Treaty of Geneva

. Treaty of Westphalia
. Disarmament Treaty
1)1

(2) 2

3) 3

(4) 4
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2[Option ID=7810]
3[Option ID=7811]
4[Option ID=7812]
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Which school considers ‘Balance of power' essential for International peace ?

. Realist school
Liberal School
. Marxist

. Post Marxist
(1)1

2) 2

3) 3

(4) 4
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1[Option ID=7813]
2[Option ID=7814]
3[Option ID=7815]
4[Option ID=7816]
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Morgenthau defined ‘National interest’ as

I. War

2. Power

3. Economic development
4. None of the above

1) 1

(2) 2

3) 3

4) 4
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1[Option ID=7817]
2[Option ID=7818]
3[Option ID=7819]
4[Option ID=7820]

Sl. No.6
QBID:190006

Who introduced the concept of “Structural Realism*?

1. Kenneth Waltz
2. Morgenthau

3. Mearsheimer
4. Marx

(1) 1

(2) 2

3) 3

4) 4
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(3) 3
(4) 4
1[Option ID=7821]
2[Option ID=7822]

3[Option ID=7823]
4[Option ID=7824]
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Who proposed the notion of *Collective Security System’: —

. Morgenthao
Cardinal Richelien
. Kenneth Waltz

. Karl Marx

1) 1

) 2

(3) 3

(4) 4
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(2) 2
(3) 3
(4) 4
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2[Option ID=7826]
3[Option ID=7827]
4[Option ID=7828]
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The Non-western theories had been marginalised in the discourse of International relations due to : —

. Hegemonic Status of the West
. Russian Supremacy

. Emergence of Global South

. World Wars

1 1

(2) 2

3) 3

(4) 4
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1[Option ID=7829]
2[Option ID=7830]
3[Option ID=7831]
4[Option ID=7832]
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QBID:190009

Which of the following can be understood as positivist approaches to International Relations ?

. Realism, Neo realism, Neo liberalism
. Marxist, Post Marxist

. Modernist and Post Modernist

. Critical approaches

1) 1

) 2

(3) 3

(4) 4
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(1)1
(2) 2
(3) 3
(4) 4
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2[Option ID=7834]
3[Option ID=7835]
4[Option ID=7836]
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The role of Non—state actors and global social movements have

. Widened the scope of study of International relations

. Discontinued the study of International relations

. Restricted the scope of study of International relations
. Blocked the role of international agencies only
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(2) 2
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3) 3
4) 4
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1) 1
2) 2
3) 3
(4) 4

1[Option ID=7837]
2[Option ID=7838]
3[Option ID=7839]
4[Option ID=7840]

SI. No.11
QBID:190011

The contribution of India in the First and Second World War had been marginalised because

1. International Relations were Eurocentric
2. India was Non-aligned
3. India was encircled by Pakistan and China
4. India's contribution was not effective
(1)1
(2) 2
(3) 3
(4) 4
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(3) 3
4) 4
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2[Option ID=7842]
3[Option ID=7843]
4[Option ID=7844]
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QBID:190012
-

What was the positive impact of First World War on the colonised Global South 7

. Increased poverty in the Global South

. It strengthened anti—imperialist struggles

. Weakened the countries of Global South

. Britain refused to grant independence to the countries of Global South

B O

1) 1
(2) 2
(3) 3
(4) 4
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3) 3
(4) 4

1[Option ID=7845]
2[Option ID=7846]
3[Option ID=7847]
4[Option ID=7848]

Sl. No.13
QBID:190013

When was League of Nations established ?

. 1919
. 1920
. 1921
. 1923
(1)1
) 2
(3) 3
4) 4
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+1923
(1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=7849]
2[Option ID=7850]
3[Option ID=7851]
4[Option ID=7852]

Sl. No.14
QBID:190014

India has adopted the policy of polycentricism due to

. Changing Balance of Power at systemic level
. Stay away from Pakistan

. Keep friendship with Russia only

. To start a war with China

(1) 1

(2) 2

3) 3

4) 4
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1[Option ID=7853]
2[Option ID=7854]
3[Option ID=7855]
4[Option ID=7856]
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QBID:190015

Unipolarity in International system can be defind as

. One state exercising most of cultural, economic and military influence

. Distribution of power in which one state allows others to be partners in hegemonic structure
. Distribution of power among allies of a hegemon

. Distribution of power among countries of Global North

B N




1) 1
(2) 2
(3) 3
(4) 4
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1)1
(2) 2
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(4) 4

1[Option ID=7857]
2[Option ID=7858]
3[Option ID=7859]
4[Option ID=7860]

Sl. No.16
QBID:190016

India is demanding the restructuring of international organisations

. For democratic World Order in which interest of Global South should also be represented
. Pakistan domination and hegemony

. To promote Western hegemony

. India does not want seat in the UN

(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=7861]
2[Option ID=7862]
3[Option ID=7863]
4[Option ID=7864]

Sl. No.17
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India’s Act East policy aims to

. Develop cultural relations with Africa

. Develop trade route connectivity with Central Asia

. Develop economic and security relations with ASEAN and East Asian nations
. Create military bases in East Africa
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(2) 2

3) 3

(4) 4
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1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=7865]
2[Option ID=7866]

3[Option ID=7867]
4[Option ID=7868]
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QBID:190018

The World started moving towards multipolarity after

. The Second World War

. Korean War

. India-Pakistan War (1965)
. The end of the Cold War
1) 1

) 2

(3) 3

(4) 4
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. DIRATGE & gy
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2[Option ID=7870]
3[Option ID=7871]
4[Option ID=7872]
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Uighur Muslims in China are inhabitants of

1. Xinjiang

2. Hong Kong
3. Taiwan

4. Hainan

(1) 1

(2) 2

3) 3

4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7873]
2[Option ID=7874]

3[Option ID=7875]
4[Option ID=7876]
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In globalising world, the scope of discipline of International relations is

1. Contracting
2. Maintaining status quo
3. Expanding
4. Blocking relations
1 1
) 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7877]
2[Option ID=7878]

3[Option ID=7879]
4[Option ID=7880]
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Indo-US nuclear deal was signed in the year

. 2005
. 2006
. 2007
. 2008
(1) 1
) 2
(3) 3
(4) 4
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. 2005
. 2006
. 2007
. 2008
(1) 1
) 2
(3) 3
(4) 4
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1[Option ID=7881]
2[Option ID=7882]
3[Option ID=7883]
4[Option ID=7884]
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QBID:190022

European Coal and Steel Community was established in the year ?

R R
.

(1)1
2) 2
(3) 3
(4) 4
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. 1950
. 1951
- 1952
. 1953
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=7885]
2[Option ID=7886]
3[Option ID=7887]
4[Option ID=7888]

Sl. No.23
QBID:190023

In 2010, India elevated its relationship to “Special and Privileged Strategic Partnership™ with which country ?

1. France
2. US

3. Japan
4, Russia
(1) 1

) 2

(3) 3

(4) 4
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(1) 1

) 2

(3) 3

(4) 4

1[Option ID=7889]
2[Option ID=7890]
3[Option ID=7891]
4[Option ID=7892]
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Which of the following countries is generally not considered as a part of Central Asia ?

. Iran

. Tajikistan

. Kazakhstan
. Uzbekistan
(1)1

(2) 2

(3) 3

(4) 4
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1[Option ID=7893]
2[Option ID=7894]
3[Option ID=7895]
4[Option ID=7896]

Sl. No.25
QBID:190025

Concept of non-refoulment applies to

. Wild animals
.NGOs

. Refugees

. Trade

11

(2) 2

(3) 3

4) 4
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1[Option ID=7897]
2[Option ID=7898]
3[Option ID=7899]
4[Option ID=7900]

Sl. No.26
QBID:190026

Which one of the following cannot be described as India’s “Extended neighbourhood™?

. West Asia

. Central Asia

. Europe

. South East Asia
(1)1

(2) 2

(3) 3

(4) 4
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1[Option ID=7901]
2[Option ID=7902]
3[Option ID=7903]
4[Option ID=7904]
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Which of the following is a double landlocked country ?

. Bangladesh
. Iran

. Pakistan

. Uzbekistan
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(1)
(2)
(3)
(4)
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(2) 2
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(4) 4
1[Option ID=7905]
2[Option ID=7906]

3[Option ID=7907]
4[Option ID=7908]

Sl. No.28
QBID:190028

The main aim of G-77 countires is

. To support terrorism

. To change international economic order in favour of developing and under developed countries
. To undermine climate change

. To decrease energy cooperation

(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=7909]
2[Option ID=7910]
3[Option ID=7911]
4[Option ID=7912]
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India is not a member of

.APEC

. SCO

. SAARC
.QUAD
1) 1

(2) 2

(3) 3

(4) 4
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() 2
3) 3

(4) 4

1[Option ID=7913]
2[Option ID=7914]

3[Option ID=7915]
4[Option ID=7916]
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‘Which country is not a part of G-4 ?

. Argentina
. India

. Germany
. Japan

B R R

(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7917]
2[Option ID=7918]

3[Option ID=7919]
4[Option ID=7920]

SI. No.31
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AUKUS will :-

. Increare economic cooperation between Australia, UK & Uganda
. Work for climate change

. Help Australia to acquire nuclear submarines

. Help Australia to acquire aircraft carrier

(1) 1

(2) 2

(3) 3

(4) 4
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(3) 3
(4) 4
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1[Option ID=7921]
2[Option ID=7922]
3[Option ID=7923]
4[Option ID=7924]
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BIMSTEC s area of focus is

1. Indo-Pacific
. Bay of Bengal

]

3. South East Asia
4. Western Indian Ocean
(1)1
(2) 2
(3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7925]
2[Option ID=7926]

3[Option ID=7927]
4[Option ID=7928]

Sl. No.33
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NATO was established in the vyear

1. 1947
2. 1949
3. 1950
4. 1951
(1) 1
(2) 2
(3) 3
(4) 4
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. 1947
. 1949
. 1950
. 1951
1) 1
) 2
(3) 3
(4) 4
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1[Option ID=7929]
2[Option ID=7930]
3[Option ID=7931]
4[Option ID=7932]

Sl. No.34
QBID:190034

India 1s an observer in

. GCC
OIC
. Arab League
SCO

R

1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=7933]
2[Option ID=7934]
3[Option ID=7935]
4[Option ID=7936]

Sl. No.35
QBID:190035

Ukraine is also called the

. Sickman of Europe

. Energy house of Europe
. Bread basket of Europe
. None of the above

(1) 1

(2) 2

3) 3

4) 4
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(4) 4
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1[Option ID=7937]
2[Option ID=7938]
3[Option ID=7939]
4[Option ID=7940]

Sl. No.36
QBID:190036

Tulip revolution occured in

. Georgia

. Russia

- Egypt

. Kyrgyzstan
(1)1

(2) 2

(3) 3

(4) 4
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1[Option ID=7941]
2[Option ID=7942]
3[Option ID=7943]
4[Option ID=7944]

Sl. No.37
QBID:190037

Which one of the following cannot be a “natural partner® of India ?

. European Union
. Japan

. France

. China

1) 1

(2) 2

3) 3

4) 4
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(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=7945]
2[Option ID=7946]

3[Option ID=7947]
4[Option ID=7948]

Sl. No.38
QBID:190038

Belt and Road Initiative was started by :-

. China

. Brazil

. Urugway
. Antartic
(1)1

) 2

(3) 3

(4) 4
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1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=7949]
2[Option ID=7950]
3[Option ID=7951]
4[Option ID=7952]

Sl. No.39
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BBIN is an example of

. Sub-regional cooperation
. Trade barrier

. Military Alliance

. Maritime security

1) 1

R R




) 2
3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7953]

2[Option ID=7954]

3[Option ID=7955]
4[Option ID=7956]

Sl. No.40
QBID:190040

‘Which one of the following is not a member of 12U2 ?

. India

. Israel

. UAE

. Uzbekistan
1) 1

) 2

(3) 3

(4) 4
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1[Option ID=7957]
2[Option ID=7958]
3[Option ID=7959]
4[Option ID=7960]

Sl. No.41
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King Rudradaman captured following states :-

A. Akaravanti
B. Anupa

C. Anarta

D. Surashtra
E. Maru

Choose the most appropriate answer from the options given below :
(B), (C). (D) only
(C). (D). (E) only
(C), (D), (E) only
(B). (C). (D). (E)

=

(A)

(B)
(A),

(A)




(4) 4

ol TgeHd A fHafaRad d 9 {4 &3 &) S fhan

A. BRG]

B. 34
C. 3[d

D. §UY
E . H

Oy

i< faU 7Y fap el # 9 96 Iugdd IR &I 99 Hiforg :

1. $ad (A). (B). (C). (D)
2. %dd (B). (C). (D). (E)
3. dd (A), (C), (D), (E)
4. (A), (B), (C), (D), (E)

1) 1

2) 2

(3) 3

4) 4

1[Option ID=7961]

2[Option ID=7962]

3[Option ID=7963]
4[Option ID=7964]

Sl. No.42
QBID:190042

Which of the following countries are members of SAARC?

. India

. Bhutan

. Bangladesh
. Nepal

. China

MO 0w

C

e

oose the correct answer from the options given below :

. (A), (B). (C). (D) only
. (A), (C), (D), (E) only
(A). (B). (D). (E) only
-(A). (B), (C), (D), (E)

@ 1

@ 2

3) 3

) 4

FHfaRId & 9 &9 9 < 91 & e g2

A MR
B. YZH
C. e
D. durd
E.dH

i faU U fadh ey § 9 el IR &1 999 Hifoie ;

1. ®dd (A). (B). (C), (D)
2. $H4d (A). (C). (D). (E)
3. $dd (A). (B), (D). (E)
4.(A), (B). (C). (D). (E)

s o —




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7965]
2[Option ID=7966]

3[Option ID=7967]
4[Option ID=7968]

Sl. No.43
QBID:190043

Which of the following relate to ‘Theory of Political Realism

)

A. International politics
B. National Interests

C. Promotion of naxalism
D. Balance of power

E. Hegemonic state

Choose the correct answer from the options given below :

. (A), (B), (C). (D) only
. (A), (B), (D), (E) only
(A), (C), (D), (E) only
(A), (B), (©), (D). (E)

W B =

=

1) 1
(2) 2
3) 3
(4) 4

frufafaa 9 oF <eHifae guriae: & Rgid 9 9dfid g2

A, RIS oI
B. P fed

C. RIS P d@Idl
D. Rifed-Gda

E. YYcqdIel 1y
i fau 1T fadheq| § 9 el IR &l 99 Hifoie ;

1. dd (A), (B), (C), (D)
2. %Hdd (A). (B). (D), (E)
3.$dd (A). (C), (D). (E)
4. (A), (B), (C). (D). (E)

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=7969]
2[Option ID=7970]
3[Option ID=7971]
4[Option ID=7972]

Sl. No.44
QBID:190044




Non-criminal / Non-violent/Non-State Actors include following

. Non-Governmental Organisations (NGOs)

. Multi-National Corporations (MNCs)

. Philanthropic Super-empowered individuals
. Government sector

. Public-Sector Organisations (PSUs)

HO N W

Choose the correct answer from the options given below :

(A), (B), (C), (D) only
(A), (B), (D), (E) only
.(A), (B). (C) only
(

1
7
3 )

A), (B), (E) only

7:

1)1
(2) 2
(3) 3
(4) 4

TR-SIRIeD/ 3H{g G ARG Daiefl H FHfaRdd § S HH I AmiFa §

A. TRIRSRT WS (T S 3

B. gl i (g g Eh
C. WUBRT Hfqadiihd fdd

D. RN &
E. QIdol-1b &5 "3 (U1 g9 )

i fau 71U A el § 9 Ue! IR &l 99 Hiflu ;

1. ®dd (A). (B). (C), (D)
2.$dd (A). (B). (D). (E)
3. &dd (A), (B). (C)
4. Hdd (A). (B). (E)

1) 1

2) 2

3) 3

(4) 4

1[Option ID=7973]

2[Option ID=7974]

3[Option ID=7975]
4[Option ID=7976]

Sl. No.45
QBID:190045

Which of the following relate to Article-5, WTO on GATTS?

. Countries can enter info Preferential Trade Agreements
. Countries can enter into Custom Unions

. Asia-Pacific Economic Cooperation was permitted

. Creation of NASA

5. NAFTA creation

b I =

=

Choose the correct answer from the options given below :

-(A), (B), (C),

.(A), (B). (C). (E) only
-(A), (B), (D), (E) only
-(A). (B). (C). (D). (E)

(D) only

UJE‘J:-«

_i:.

1) 1
() 2
3) 3




(4) 4

FafRad & 9 &1 U 71cy (St TS & ) W {9y AR 9764 & 3w - 5 U T §

A. Y IR GG & IAd gl O&d &
B. 31 T G H AN 81 Gabdl ©
C. TRELyRG e gggiv ot siafd
D. A1 &1 RITTAT
E. AT%eT &1 TG

i fau 71U A el § 9 Ue! IR &l 99 Hiflu ;

1.$dd (A). (B). (C). (D)
2. %dd (A). (B), (C), (E)
3. ®dd (A), (B), (D), (E)
4. (A), (B), (C), (D), (E)

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=7977]
2[Option ID=7978]
3[Option ID=7979]
4[Option ID=7980]

Sl. No.46
QBID:190046

Which of the following are components of Global governance?

A. Democratic interdependence
B. Peace

C. Financial institutions

D. Nuclear regulation

E. Sustainable development

Choose the correct answer from the options given below :

.(A), (B), (C), (D) only
.(A), (C), (D), (E) only
.(A), (B), (D), (E) only
(A), (B), (C). (D), (E)
1) 1
2 2
3) 3
4) 4

%% A & YeP HEEad A I 2

A. TP TRER R
B. QIifd

c. fa<iig 9=

D. YA fqfaH

E. 9ad [d&™

i faU U fadh ey § 9 el IR &1 999 Hifoie ;

1. ®dd (A). (B). (C), (D)
2. $H4d (A). (C). (D). (E)
3. $dd (A). (B), (D). (E)
4. (A), (B). (C). (D). (E)

s o —




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7981]
2[Option ID=7982]

3[Option ID=7983]
4[Option ID=7984]

Sl. No.47
QBID:190047

International Monetary Fund aims at

A. Prevent nuclear war

B. Global monetary cooperation
C. Secure financial stability

D. Facilitate international trade
E. Sustain economic growth

Choose the correct answer from the options given below :

. (A), (B), (C). (D) only
.(B), (C), (D). (E) only
),
).

LS I o B

.(A), (C), (D), (E) only
(A), (B), (C). (D), (E)

1) 1
(2) 2
3) 3
(4) 4

H-<TRUFTY HT BN BT el ©

A. GTHII] G5, b

B. % Hl ¥ganT

c. fa<ita v giHfga s

D. 3~ TR bl WHTg ol
E. 312 gl B T

i fou U fadheq| § 9 el IR &l 999 Hifoie ;

1. &dd (A). (B)., (C). (D)
2. Hdd (B). (C). (D). (E)
3. %dd (A), (C). (D), (E)
4.(A), (B). (C). (D). (E)

(1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=7985]
2[Option ID=7986]
3[Option ID=7987]
4[Option ID=7988]

Sl. No.48
QBID:190048




Which are elements of ‘culture’?

A. Values

B. Belief

C. Religion
D. Customs
E. Space wars

Choose the correct answer from the options given below :

1. (A). (B). (C). (D) only
2. (A), (C), (D), (E) only
3.(B).(C), (D). (E) only
4.(A), (B). (C). (D). (E)
1) 1
(2) 2
(3) 3
(4) 4
DI P dd DI 82
A HA
B. [ayrg
C. ¥
D. 3R
E. 3dRe& g5
HId fau Tt fash eyl | 9 el 3R &I 999 DIIU ;

1. Hdd (A). (B). (C). (D)

2. ®dd (A), (C), (D), (E)
3.%dd (B). (C). (D). (E)
4. (A). (B). (O). (D). (E)

1) 1

2) 2

(3) 3

4) 4

1[Option ID=7989]

2[Option ID=7990]

3[Option ID=7991]
4[Option ID=7992]

Sl. No.49
QBID:190049

Major contributors of Global CO2 emissions are

A. China
B. Bhutan
C.UsS

D. India
E. Russia

Choose the correct answer from the options given below :

1. (A), (B), (C). (D) only
2. (A), (C), (D), (E) only
3.(B),(C), (D), (E) only
4.(A), (B), (C), (D), (E)

1) 1

) 2

(3) 3




(4) 4

YD PIETSTS HHIZS (CO,) IS P YHE Isich HHfRad # I DI U g2

A dH
B. Yo
C.gug
D. HRd
E. =Y

I (3T TTU [dh eyl | U 9al 3R &1 99 Pifofu :

1. dd (A), (B), (C), (D)
2.%dd (A). (C). (D). (E)
3.%dd (B). (C). (D). (E)
4. (A), (B), (C). (D). (E)

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=7993]
2[Option ID=7994]
3[Option ID=7995]
4[Option ID=7996]

Sl. No.50
QBID:190050

Impact of climate change includes:-

A. Global warning

B. Melting of glaciers

C. Rise in sea level

D. Change in biological diversity
E. Melting of sea ice

Choose the correct answer from the options given below :

- (A), (B), (C), (D) only
.(B). (C). (D). (E) only
(A), (C), (D), (E) only
.(A), (B), (C). (D). (E)
1)1
(2) 2
3) 3
(4) 4

STadT] giadH &1 3R Fafifaa A4 g

A. df3ye IOl

B. TRRER &1 fUga

C. g W H alg

D. Sifds fqfderdr H ufvadH
E. SHg1 9% o1 fUea

i faU U fadedi § 9 T IR &l 999 HIfoe :

e d b —

1. ®ad (A), (B). (C), (D)
2. Hdd (B). (C). (D), (E)
3. $Hdd (A). (C), (D). (E)
4. (A), (B). (C), (D), (E)




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7997]
2[Option ID=7998]

3[Option ID=7999]
4[Option ID=8000]

Sl. No.51
QBID:190051

Nuclear weapons were not used in :-

A. Korean war

B. Vietnam war

C. Second world war
D. Cuban Missile crisis
E. Kargil war

Choose the correct answer from the options given below :

. (A), (B), (C). (D) only
.(B), (C), (D). (E) only
. (A), (B). (D). (E) only
.(A). (B). (C), (D), (E)

[FURN RS-

=

1) 1
(2) 2
3) 3
(4) 4

TRATY ERRIR &1 ¥HTd foh gl H 7181 gl 2

A. I

B. fagdH g

c. fadafay ge

D. T fATgd Hobe
E SR TS

i faU 71U f[dh el § 9 Ul 3R &l 99 B :

1. dd (A). (B). (C), (D)
2. ®ad (B), (C). (D), (E)
3. %4d (A), (B), (D). (E)
4. (A). (B). (C), (D), (E)

1)1
(2) 2
3) 3
(4) 4
1[Option ID=8001]
2[Option ID=8002]

3[Option ID=8003]
4[Option ID=8004]

Sl. No.52
QBID:190052




Nuclear weapons have been tested by

A . USA
B. Russia
C. UK
D. France
E. China

Choose the correct answer from the options given below :

. (A), (B), (C). (D) only
. (B), (C), (D), (E) only
.(A). (C). (D). (E) only
-(A). (B), (C). (D), (E)

W b =

=

1)1
) 2
3) 3
(4) 4

TRHTY] 371 D1 giaor Fafafad # 9 f a2 gri fban g2

A.quag
B. &Y
C.g®
D. Hhig
E. 9

i faU U fadh eyl § 9 el IR &1 999 Hifoie ;

1. Hdd (A). (B). (C). (D)
2. $dd (B). (C). (D). (E)
3. %dd (A), (C), (D), (E)
4. (A), (B), (C), (D), (E)

1) 1

2) 2

(3) 3

4) 4

1[Option ID=8005]

2[Option ID=8006]

3[Option ID=8007]
4[Option ID=8008]

Sl. No.53
QBID:190053

Which are the Non-State Actors and Terrorist organisations?

A. Hamas

B. Al Qaeda

C.ISIS

D. Help Age India

E. Wild Life Trust of India

Choose the correct answer from the options given below :

1. (A), (B), (C) only
2.(B), (C), (D) only
3. (©), (D), (E) only
4.(A), (B), (C). (D), (E)
1) 1
) 2
(3) 3




4) 4
fafeRad # O TR I &di Ud 3Mddarc! W6 ®iF 9 52

A.gHIY

B. 3Hcl-hdal

C. 3113 TH 3713 U4
D. g¢d U Sfear

E. d13CE AI3% ¥ 3P Sfsdl
i fou T fadheq| § 9 Tl IR &l 999 Hifoie ;

1. Hdd (A). (B). (C)
2. %dd (B). (C). (D)
3. &dd (C). (D). (E)
4. (A), (B), (C), (D), (E)
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=8009]
2[Option ID=8010]
3[Option ID=8011]
4[Option ID=8012]

Sl. No.54
QBID:190054

UNDP classifies Migration in following ways :

A. South-South Migration
B. South-North Migration
C. North- North Migration
D. North-South Migration
E. Anywhere on the planet

Choose the most appropriate answer from the options given below :

. (A), (B), (C), (D) only
. (B), (C), (D), (E) only
. (A), (C), (D), (E) only
. (A). (B), (C), (D), (E)

11

2) 2

(3) 3

4 4

7 U S1 Ut yarg 1 qrifepor fFafered gafaal § g

A. GI&0T - ST yary
B. GI&U-3R Ydry
C. FWR-3TR UaN

D. 3tR-CI&01 %1y
E. fay o Fgl ol

i<l AU 7Y fapedl H I 96 Iugdd IR &I 99 Do :

[FURN RS-

=

1. ®dd (A). (B). (C), (D)
2. Hdd (B). (C). (D). (E)
3. %dd (A), (C), (D). (E)
4. (A), (B). (C). (D). (E)




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8013]
2[Option ID=8014]

3[Option ID=8015]
4[Option ID=8016]

Sl. No.55
QBID:190055

Brexit is likely to impact

A UK
B.EU
c. s
D. India
E. Arctic

Choose the most appropriate answer from the options given below :

1. (A), (B), (C). (D) only
2. (B). (C). (D). (E) only
3. (A), (C). (D), (E) only
4. (A), (B), (C), (D), (E)

1

(2) 2

(3) 3

(4) 4

sifdore dHad: Mafafad & 9 i gvifad srar g

AgH
B.3 9
c.gud

D. HRd

E. 3IhicH

i<l AU 7Y fap el | 9 968 Iugdd IR &I 94 Pl :

1. dd (A), (B), (C), (D)
2. $dd (B). (C). (D). (E)
3. %dd (A), (C). (D), (E)
4. (A), (B), (C), (D). (E)

1) 1

2) 2

3) 3

4) 4

1[Option ID=8017]

2[Option ID=8018]

3[Option ID=8019]
4[Option ID=8020]

Sl. No.56
QBID:190056




Statements true for Myanmar and Rohingya Muslims :

A. Rohingya Muslims are religious minorities in Myanmar.

B. Myanmar Government has denied them citizenships.

C. Rohingya Muslim insurgents attacked police posts in 2017 in Myanmar.

D. UN intervened and prevented exodus of Rohingya Muslims from Myanmar.
E. Rohingya Muslims are in majority in Myanmar.

Chooe the most appropriate answer from the options given below :

_(A), (B), (C) only
.(A), (B), (C), (D) only
. (B). (C). (D) only

- (B). (C). (D). (E) only

1)1
(2) 2
(3) 3
4) 4

TR 3R Afern gt & dedf §f Fofafea d e sH I SR we 82
AT ARTH ®AR H 4ife e =@ ¢

B. RITAR DR = I8 ANREAT &+ I PR B fear

¢ Jifgwn gl fasifedl = av 2017 # =-aR # gfad Hifbal R gad far
D. UG It A gxdad fhar SR ®iAR U Afgar GRaHl & Fspa o1 Al
E. FITAR H AT AReTH agHd H §
il faU 7Y {9 edl H O 96 Iugdd IR DI 94 Hifog :

s o —

1. Hdd (A). (B). (C)
2. Hdd (A). (B). (C), (D)
3. &dd (B). (C). (D)
4. &dd (B). (C). (D). (E)
1) 1
) 2
(3) 3
4) 4
1[Option ID=8021]
2[Option ID=8022]

3[Option ID=8023]
4[Option ID=8024]

Sl. No.57
QBID:190057

Human security includes following

A. Security of indivdiuals and states

B. Security from direct and indirect violence
C. Promotion of human development

D. Permission for child labour

E. Conscription in the defence forces

Choose the most appropriate answer from the options given below :

.(B). (C), (D), (E) only
(B). (C), (D) only
.(A), (B), (C). (D) only
.(A), (B), (C) only

(1) 1

(2) 2

3) 3

e d b —




(4) 4

AT YRef FafaRad & mfd axdl §

A. duladd Ud Il Bl YR
B. Y& U9 3Ugaf fodm I TRaf
C. A4 [dHM &1 Hdar

D. Iy H Bl

E. & 9al § fHard 9= udf

i fau U A el | 9 Ul IR &l 99 Hiflu ;

1.%dd (B). (C). (D). (E)
2.%dd (B). (C). (D)
3. @dd (A). (B), (C), (D)
4.Hdd (A), (B), (C)

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8025]
2[Option ID=8026]
3[Option ID=8027]
4[Option ID=8028]

Sl. No.58
QBID:190058

2017 India-China stand off in Doklam refers to

A. Military border stand off

B. Economic trade stand off

C. Chinese soldiers constructing road in Doklam

D. Indian soldiers prevented Chinese soldiers

E. Both countries announced withdrawal of troops on 20 Aug 2017

Choose the most appropriate answer from the options given below :

(A) (B). (C). (D) only

B). {C) (D) (E) only
(A} (C), (D), (E) only
(A), {B) (C) (D), (E)

S

(1) 1
(2) 2
(3) 3
(4) 4

Y 2017 H URA-AH DI G131 BT Sihard § MHAL-GHEAT FHfeRad 9 ddfed g

A. O d|1 9 qE1-aHt

B. 1% AR | TH1-a+1

C. SipaM § 9H AfF®l gR1 as® &1 fAafur

D. ¥R A1 A FH1 JHD] @l A

E. G G201 9 28 3R 2017 DI Y1 I d1GE] DI 9NN DI

i< feU 1Y faedl H 9 98 Iugad IR &I T4 Bl :

1. hdd (A). (B), (C), (D)
2. Hdd (B). (C). (D), (E)
3. %dd (A). (C). (D), (
4. (A), (B). (C). (D). (E

)




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8029]
2[Option ID=8030]

3[Option ID=8031]
4[Option ID=8032]

Sl. No.59
QBID:190059

Which the following are thinkers supporting Feminism :-

A. Mary Wollstonecraft
B. Betty Friedan

C. Cynthia Enloe

D. Hans Morgenthau
E. Eva Figes

Choose the most appropriate answer from the options given below :

. (A), (B), (C). (D) only
.(B), (C), (D). (E) only
.(A), (B), (C). (E) only
.(A), (B), (C), (D). (E)

1) 1
(2) 2
3) 3
(4) 4

ffaRad § 9 9Riare gqde & 2

A R gAEhT
B. 41 WisH

c. T8t e

D. g9 A=

E. 341 fthulol

i fou U fadheq| § 9 el IR &l 999 Hifoie ;

1. dd (A), (B), (C), (D)
2. ®dd (B), (C). (D), (E)
3. %ad (A). (B), (C), (E)
4. (A), (B), (C), (D). (E)

1) 1

2) 2

3) 3

4) 4

LS I o B

=

1[Option ID=8033]
2[Option ID=8034]
3[Option ID=8035]
4[Option ID=8036]

Sl. No.60
QBID:190060




Following are correct on Ancient Indian Knowledge system

A. Dharma sutras connected Dharma with appropriate way of life

B. Ashramas described four stages of life

C. Varnas described duties of life

D. Ashramas included Brahmacharya, Grahasta, Vanprastha and Sanyasa Ashramas
E. Ahimsa meant promoting war

Choose the most appropriate answer from the options given below :

. (A), (B), (C), (D) only
(B). (C). (D). (E) only
.(A), (C), (D), (E) only
. (A), (B). (C), (D). (E)

1)1
) 2
3) 3
(4) 4

YT HRA 99 Usfd & aR 8§ Fafafad 4 S e 3 ae e

A. YU A 4 P Sfia & I9gead A7 ¥ Yde foban|

B. 319l H Sitad &1 IR fari1afi &1 qui- fHadi g

C. Ul § Siigq & sl 1 guiF [Addl g

D. HTHT H Sgrd, Yo, AR IR G=I19 SAIHH M 5id 6|
E. 3igH1 4 310 g5 Pl Semal a1 g

i faU U fadh eyl § 9 el IR &1 999 Hifoie ;

i o —

1. dd (A), (B), (C), (D)
2. $dd (B). (C). (D). (E)
3.%dd (A). (C). (D). (E)
4. (A), (B), (C), (D), (E)

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=8037]

2[Option ID=8038]

3[Option ID=8039]
4[Option ID=8040]

Sl. No.61
QBID:190061

Mauryan Dynasty had following kings

A. Chandragupta Maurya
B. Bindusar

C. Ashoka

D. King Rajendra

E. Suryavarman

Choose the most appropriate answer from the options given below :

. (A), (B), (C) only
.(B), (C). (D) only
.(C), (D), (E) only

. (A), (B). (C), (D) only
11

(2) 2

(3) 3

Ja i ba —




(4) 4

ARG & S (7o) FEfaRaa § 9 oA 42

A, =g HIY

B. fdgaR

C. 3P

D. T4 Ioig

E. QUa#
i fau U A el | 9 Ul IR &l 99 Hiflu ;

1.$dd (A), (B), (C)
2. %dd (B). (C). (D)
3. &dd (C). (D). (E)
4. ®dd (A). (B), (C). (D)
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8041]
2[Option ID=8042]

3[Option ID=8043]
4[Option ID=8044]

Sl. No.62
QBID:190062

Which of the following are Indian Texts?

A. Arthashastra
B. The Prince
C. Shakuntalam
D. Rajtarangini
E. Odessey

Choose the most appropriate answer from the options given below :

. (A), (B), (C) only
.(B), (C), (D) only
.(A), (C), (D) only
.(A), (B), (C), (D), (E)
11
2 2
(3) 3
4) 4

e § 9 URAg dy S I 82
A, 3R

B. ¢ fUig

C. AHaaH
D. ISR A0l

E. ofifsdl
i< feU 7Y fa el H 9 99 Iugad &1 99 Bl ;

e d b —

1. dd (A), (B), (C)
2. ®Hdd (B). (C). (D)
3. %hdd (A), (C). (D)
4.(A), (B). (C). (D). (E)




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8045]
2[Option ID=8046]

3[Option ID=8047]
4[Option ID=8048]

Sl. No.63
QBID:190063

Rajdharma included following

A. Security of State and Citizens
B. Economic prosperity

C. Welfare state

D. Environment friendly rule

E. Peaceful environment

Choose the most appropriate answer from the options given below :

. (A), (B), (C). (D) only
.(B), (C), (D). (E) only
(A), (C), (D), (E) only
(A), (B). (C), (D). (E)

W B =

=

1) 1
(2) 2
3) 3
(4) 4

et H faforad wnfie €

A. T U4 AMTRD] T Y&
B. 3N gl

C. SAHRI I

D. dTdIaR0l & 3 d g
E. YMifaqul ardraror

Dy

i<l AU 7Y fap el | 9 968 Iugdd IR &I 94 Pl :

1. dd (A), (B), (C), (D)
2. $dd (B). (C). (D). (E)
3. %dd (A), (C). (D), (E)
4. (A), (B), (C), (D). (E)

1) 1

2) 2

3) 3

4) 4

1[Option ID=8049]

2[Option ID=8050]

3[Option ID=8051]
4[Option ID=8052]

Sl. No.64
QBID:190064




Name the Pandava brothers

A. Yudhisthira
B. Arjun

C. Duryodhan
D. Bheema

E. Dushashan

Choose the most appropriate answer from the options given below :

1. (A), (B), (C) only
2. (A), (B), (D) only
3. (B), (C), (D) only
4. (C), (D), (E) only

Oy

i< faU 7Y fap el # 9 96 Iugdd IR &I 99 Hiforg :

1. Hdd (A). (B). (C)
2. $dd (A). (B). (D)
3. &dd (B). (C). (D)
4. &dd (C). (D). (E)

1) 1

2) 2

3) 3

4) 4

1[Option ID=8053]

2[Option ID=8054]

3[Option ID=8055]
4[Option ID=8056]

Sl. No.65
QBID:190065

Kamandaka described following as causes of war

A. Usurpation of Kingdom

B. Abduction of women

C. Killing of friends and political rivals

D. Kutayuddha

E. Luring away of learned men and soldiers

Choose the most appropriate answer from the options given below :

. (A), (B). (C), (D) only
.(A), (B), (C). (E) only
. (B), (C), (D), (E) only
. (A), (B), (C), (D), (E)
1
(2) 2
3) 3

e d b —




(4) 4

Died FURId ©1 35 & SR & =9 § ftid Hd §

A. I BT IASITIGR]
B. HigaI3fl T 3Ug0l

C. Tl wd efas wiagiedl @1 gan
D.HCTSE

E. fagHl SR ATl 1 gHIBR o Sl

[ =

i< faU 7Y fap el # 9 96 Iugdd IR &I 99 Hiforg :

1. dd (A). (B), (C), (D)
2. %dd (A). (B), (C), (E)
3. &dd (B). (C). (D). (E)
4. (A), (B), (C). (D), (E)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8057]

2[Option ID=8058]

3[Option ID=8059]
4[Option ID=8060]

Sl. No.66
QBID:190066

Match List T with List IT

LIST I (Author) LIST II (Books)
A |sarinan o Erimsnson] 1. |Asia.n Juggemaut : The Rise of China India
and Japan
B. |Brahma Chellany II. |Clash of Civilizations
C. [Nawaz, Shuja IT1. |Rough Notes on the Campaign in Sinde and Afchanistan)
D. [Outram, James IV [Crossed Swords, Its Army and the Wars within

Choose the correct answer from the options given below:

L. (A)~(II), (B)-(I), (C)-(IV), (D)-~(III)
2. (A)~(II), (B)-(IV). (C)-(II), (D)~(1)
3. (A)-(IV), (B)-(III). (C)-(I), (D)-(II)
4. (A)-(III), (B)-(IT), (C)-(IV), (D)-(T)

(1) 1

(2) 2

3) 3

(4) 4

it 1 91 Yl 11 T e Sife

T 1 ) T 1L(IET)

T (el Ul gicare | 1 [UfArH SsERHIC: € Us 1P I, 31991 US ST
ERIENIG 11 [&T2 A% g

[FaTsT 2[eT 1L R 12H [ § $Hd 34 4y U8 B-&
HTSH, ST 1V. [pIs Wigy, 324 4l Us a¥ 4G 3

+d feu TTU fadhedl H 9§ Uel 3wk &1 99 BHIfolu :

- (A)-(ID), (B)~(I). (C)-(IV). (D)~(IIT)
- (A)-(IID), (B)-(IV), (C)~(II), (D)~(T)
(A)-(IV), (B)-(III), (C)~(I), (D)~(IT)
. (A)~(III), (B)~(II), (C)-(IV), (D)-(I)
(1) 1
(2) 2
(3) 3
(4) 4

ofofw=|=

e




1[Option ID=8061]
2[Option ID=8062]
3[Option ID=8063]
4[Option ID=8064]

Sl. No.67
QBID:190067

Match List T with List IT

LIST I (Author) LIST II (Books)
A |Thomas Hobbes| 1. |The Twenty Years Crisis
B. [EH Carr II. |Leviathan
C. Waltz Kenneth | 111 The Road to Kabul, The Second Afghan War,
D

1878 — 1881
. [Robertson Brian| IV. [Man, The State and War : A Theoretical Analysig

Choose the correct answer from the options given below:

(A)-(III), (B)-(IV), (
(A)-(II), (B)(I), (C)-
(A)-(IIT), (B)-(IV), (C
AA)IV), (B)-(III). (C
1) 1
(2) 2
(3) 3
(4) 4

it 1 U1 Gl 11 bl e Hifee

Gl AGECED) T 11 (TP)

mmess | L i< o o

. 0 BR 1. [oifdanH

gleed daY | 111 [G IS ¢ F1g0. § Hos AP IR 1878-1881
. fega §ma | v [, § ¥ TS R U eRidsd Ty

1 16U U fgeed! § U gl 3R &1 904 il -

(A)-(IIT), (B)~(IV), (C)~(I). (D)-(II)
(A)-(ID), (B)~(I). (C)-(IV). (D)-~(III)
(A)~(IIT), (B)~(IV), (C)-(II), (D)~(I)
(A)-(IV), (B)-(III), (C)~(I), (D)~(II)

C)-(I), (D)~(IT)
(IV), (D)-(III)

(II), (D)-(I)
(D). (D)-(II)

o s

)
)

g|o|w|=

e O

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8065]
2[Option ID=8066]

3[Option ID=8067]
4[Option ID=8068]

Sl. No.68
QBID:190068

Match List T with List IT

LIST I (Author) LIST II (Books)

[Dr. BE. Ambedkar| 1. [The Art of War

Sun Tzu II. [India’s Foreign Policy in Contemporary International Scenario|
Muchkund Dubey | 111 [Pakistan or the Partition of India

lAngell Norman IV [The Great Illusion

REE

Choose the correct answer from the options given below:

(A)-(ID), (B)~(I), (C)-(IV), (D)-~(III)
(A)-(IV), (B)-(IID), (C)-(I), (D)~(II)
(A)-(ITI), (B)-(I), (C)~(II), (D)-(IV)
A(A)-(IV), (B)-(IT), (C)-(I), (D)-(II)
(1) 1
() 2
(3) 3
4) 4

e o




il 1 1Y Gl 11 T e Piforg -
T 1 (+rE) T 1 (D)

STl R SFgdy| L & 31e b ar
= o 11 ErEame.BRA UTierdl 39 B8R 2e3-9Hd [RARA]
GG g8 111 [qTfehea=1 1 G UICIRA S aiadl
oid A IV, [& 3T 3o

1 f&u U faded! # U gl IR 6l 99 HIf

(A)-(ID), (B)-(I), (C)-(IV), (D)-(III)
. (A)-(IV), (B)-(III), (C)-(I). (D)-(IT)
(A)-(TID). (B)-(I), (C)-(ID), (D)-(ITV)
(A)-(IV), (B)-(IT). (C)-(I), (D)-(IIT)
(1) 1
) 2
(3) 3
(4) 4

olo|w|F

e

1[Option ID=8069]
2[Option ID=8070]
3[Option ID=8071]
4[Option ID=8072]

Sl. No.69
QBID:190069

Match List T with List IT

LIST I (Author) LIST II (Books)
A [Fareed Zakaria 1. |A Calculus of Power : Grand Strategy in the Twentv-first Centursy
B. [Francis Fukuyamal II. |Gender in International Relations
C. |Gowan Peter IT1. [The Post-American World
D. I Ann Tickner v lAmerica at the C_lrossroadf_-: : [?emocrac_\':
[Power and the Neo conservative legacy

Choose the correct answer from the options given below:

1. (A)-(ID), (B)~(III), (C)-(IV), (D)«(I)
2. (A)-(IV), (B)-(IID), (C)~(II), (D)-(1)
3. (A)-(ID), (B)~(I), (C)-(IV), (D)~(III)
4. (A)~(IID), (B)~(IV), (C)~(I), (D)-~(IT)

1) 1

(2) 2

3) 3

(4) 4

it 1 91 Yl 11 T i SIfee

= 1 @@D) T 1 (TEP)

_ [ s | 1 [T ey S TaR: 18 %ol 34 G grol Bke Iegd
[WPIE oA 11 [6R 31 $eXeHd Nagd

e dieX 111 [¢ URE-3HR®H 9

. |3HR®I T € 14 ASH - SHIHI,
MERER |V OTeR U3 & -1 dordied drrt

o |o|w|e

i feu U fadhedl § 9§ Ug! SR &l 99 B :

- (A)-(ID), (B)~(III), (C)-(IV), (D)~(I)
. (A)-(IV), (B)-(III), (C)-(II), (D)-(I)
- (A)-(ID), (B)~(I), (C)-(IV), (D)~(III)
(A)-(IID). (B)~(IV). (C)~(T). (D)~(IT)
(1) 1
) 2
(3) 3
(4) 4

R e B

1[Option ID=8073]
2[Option ID=8074]
3[Option ID=8075]
4[Option ID=8076]




Sl. No.70
QBID:190070

Match List T with List IT

LISTI LISTII
A PMikhail Gorbachev] I [Communizm
B. [Karl Marx II. |Glasnost
C. |George Kenon I11. |Act East policy
D. [Narendra Modi TV. |Containment Theory

Choose the correct answer from the options given below:

1. (A)~(II), (B)~(I), (C)~(IV), (D)~(III)
2. (A)-(IID), (B)-(IV), (C)-(II). (D)-(I)
3. (A)(I), (B)-(II), (C)-(IIT), (D)-(IV)
4. (A)-(IV), (B)-(II), (C)~(III), (D)~(I)

1) 1

(2) 2

(3) 3

(4) 4

it 1 91 Yl 11 T i SIfee
Gl =

fraza TEdd| 1 [grag

(@1 JI 1L faeTe
CSEEEE] 111 09 g grad]
735 TGl vV [grede i

i fau U fadedt # U gl IR &l 90 HIfU

(A)-(II), (B)-(I), (C)-(TV), (D)~(III)
(A)-(II). (B)-(IV). (C)-(II), (D)-(I)
(A)-(I). (B)-(II), (C)~(III), (D)~(IV)
(A)-(IV), (B)-(ID), (C)~(III), (D)-(I)

olo|w|F

N N

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=8077]
2[Option ID=8078]

3[Option ID=8079]
4[Option ID=8080]

Sl. No.71
QBID:190071

Match List T with List IT

LISTI LISTII
A |China 1. |[Equality of Tamil community]
B. [Sr1 Lanka II. |Tawang
C. |Pakistan IT1. [Lipulekh
D. [Nepal IV, JFunn of Kuchh

Choose the correct answer from the options given below:

(A)-(IID). (B)-(IV), (C)~(II), (D)-(I)
(A)-(ID), (B)~(I), (C)-(IV), (D)~(III)
(A)(I), (B)~(II), (C)-(IIT), (D)-(IV)
A(A)(IV), (B)-(IID), (C)~(II), (D)-(1)
1) 1
(2) 2
(3) 3
(4) 4

W




il 1 I1Y | 11 1 el HIfolg

T I T I

A [dH= L [GHd e &l HH ]

B. |sfician IL. [qdiT

C. [diesa= 111 [foqea

D [Hur@ V. [o=g @13

T faU U faded! # U Tl SR DI 994 Bifoid :
L. (A)-(IID), (B)-(IV). (C)~(II), (D)~I)
2. (A)-(ID)., (B)-(I), (C)-(IV). (D)-(III)
3. (A)-(I). (B)-(II), (C)-(IIT), (D)~(IV)
4. (A)-(IV), (B)-(III), (C)-(II), (D)-(I)

11

(2) 2

(3) 3

4) 4

1[Option ID=8081]
2[Option ID=8082]
3[Option ID=8083]
4[Option ID=8084]

Sl. No.72
QBID:190072

Match List T with List IT

LISTI LISTII
SAARC 1. Manila
IASEAN II. [Kathmandu

|Asian Development Bank | [II. [Abidjan
. |African Development Bank] IV. [Jakarta

ofofw[>

Choose the correct answer from the options given below:

(A)-(IV). (B)-(IIL), (C)-(I). (D)-(I)
(A)-(III), (B)-(II), (C)-(IV). (D)-(I)
(A)-(II), (B)~(IV), (C)-(I), (D)-(III)
(A)-(IID), (B)-(IV), (C)-(II), (D)-(1)
(1) 1
(2) 2
3) 3
4) 4

il 1 I1Y i 11 1 T Hifore
A1
[STch

W

e 11
(=it

TR I1. [PT3HT
[URRRITS, faehTd o] 111 [srfagor
. [erpiet faerd o v [sremat

1 feu 71U fadedt U gl 3T &l 99 HIfo

(A)-(IV), (B)-(ITI), (C)~(I), (D)-(II)
. (A)-(IID). (B)-(II). (C)-(IV), (D)-(I)
A(A)-(ID, (B)-(IV). (C)-(I), (D)-(III)
(A)-(IID), (B)-(IV), (C)-(II), (D)-(I)
1) 1
(2) 2
3) 3
(4) 4

olo|w|s

o S

1[Option ID=8085]
2[Option ID=8086]
3[Option ID=8087]
4[Option ID=8088]

Sl. No.73
QBID:190073




Match List T with List IT

LIST I LIST II
A [BRICS I. |1967
B. JASEAN II. |2011
C. [WTO IL |1947
D. |GATT IV. |1995

Choose the correct answer from the options given below:

W

1) 1
(2) 2
3) 3
(4) 4

it 1 91 Yl 11 T e SIfee

(A)-(IV), (B)-(IID), (C)~(I). (D)~(II)
(A)-(III), (B)~(II), (C)-(IV), (D)-(I)
- (A)~(IID), (B)~(IV), (C)-(I), (D)-(II)
(A)-(II), (B)~(I), (C)-(IV), (D)~(III)

T 0

T
EES]

1967

ST

2011

[Secg o1 3

- |1947

olo|w|F

s

/. |1995

i fau U fadedt # U gl IR &l 90 HIfU

A(A)-IV), (B)-III), (C)~(I), (D)-(II)
. (A)-(III), (B)-(II). (C)-(IV). (D)~(I)
(A)-(IID), (B)-(IV), (C)~(I), (D)-(II)
- (A)-(II), (B)-(I), (C)-(IV), (D)-(IIT)

N N

(1)

1

) 2
3) 3
(4) 4

1[Option ID=8089]
2[Option ID=8090]
3[Option ID=8091]
4[Option ID=8092]

Sl. No.74

QBID

:190074

Match List T with List IT

LIST I LIST II
. |World bank 1. [Building a Better Africa
|African Development Bank] II. [Promote Global Economic Development|

[Paris Climate Treaty

111

[Promote Global Peace

o|o|w|>

. |[United Nations

IV.

Climate Change Mitigation

Choose the correct answer from the options given below:

W

(1)
(2)

1
2

3) 3

(4)

4

- (A)-(II). (B)~(I), (C)-(IV), (D)~(III)
(A)-(IID), (B)-(IV). (C)-(I), (D)-(I1)
(A)-(IV), (B)-(IID), (C)~(II), (D)(1)
. (A)~(IID), (B)~(IV), (C)~(I), (D)~(II)




il 1 I1Y | 11 1 el HIfolg

A1 T 10
3% db L [30H SApIdT &I FH
BN faaTd siap| 11 [ai3d fa@Tg 1 Uiciied H<)
[URE Sfciarg Y | 1. [31%e i &1 disiied o

S IV. [Sreiarg oRad 310
1 feU TTU fddedl © 9 UE1 SR B 9091 DIU ;

. (A)-(ID), (B)-(I), (C)-(IV), (D)-(III)
(A)-(IID), (B)-(IV), (C)-(1), (D)-(II)
ATV, (B)(IID), (C)-(II), (D)-(I)
- (A)-(IID), (B)-(IV), (C)-(I), (D)~(1I)
(1) 1
(2) 2
(3) 3
) 4

olo|w|F

e

1[Option ID=8093]
2[Option ID=8094]
3[Option ID=8095]
4[Option ID=8096]

Sl. No.75
QBID:190075

Match List T with List IT

LISTI LISTII
A [Rafale 1. |United States
B [F-16 II. [France
C. Mikoyvan MIG-29 I11. |India
D. |Tejas IV |[Russia

Choose the correct answer from the options given below:

. (A)-(IID), (B)-(II). (C)-(IV). (D)-(I)
(A)-(ID), (B)~(I), (C)-(IV), (D)~(III)
- (A)~(IID), (B)~(IV), (C)~(II), (D)-(1)
. (A)-(I). (B)-(II), (C)-(II), (D)-(IV)
1) 1
(2) 2
(3) 3
(4) 4

il 1 I1Y i 11 1 T Hifore
T 1 T I
RTthel

1 [smfe
Uh-16 . [rig
_ (A 2| 111 [HRd
[corg V. [&g

1 feu 71U fadedt U gl 3T &l 99 HIfo

- (A)~(II), (B)~(II), (C)-(IV), (D)(I)
(A)-(ID, (B)-(I), (C)-(IV), (D)-(III)
(A)(IID). (B)-(IV). (C)-(I1), (D)-(I)
A(A)-(I). (B)-(II), (C)-(III), (D)-(IV)
1) 1
(2) 2
(3) 3
(4) 4

W

o[o]w]s

o S

1[Option ID=8097]
2[Option ID=8098]
3[Option ID=8099]
4[Option ID=8100]

Sl. No.76
QBID:190076




Arrange African countries in chronological order of their year of Independence

A. South Africa
B. Morocco
C.Egypt

D. Kenya

E. Zimbabwe

Choose the correct answer from the options given below :

- (E). (D)., (A), (B), (C)
- (B), (A). (C), (E). (D)
- (A), (C), (B), (D), (E)
- (D). (A). (C), (E), (B)

L O

4=

1)1
(2) 2
(3) 3
(4) 4

FAAfcREd 3pId! M DI 396 W[dAdl Y & BIdDHH U IdYd DHIFU -

A. GI&UT 3{ThIhT
B. ARaG®!

c. g

D. &A1

E. e

i fau 7T fadhedl § 9§ I8! 3R &l 9dd Bl -

E). (D), (A), (B), (C)
B), (A), (C), (E), (D)
A), (C), (B), (D), (E)
D), (A), (C), (E), (B)

R N
—

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8101]
2[Option ID=8102]

3[Option ID=8103]
4[Option ID=8104]

Sl. No.77
QBID:190077

Arrange the following events in order of their vear of occurrence :-

A. Treaty of Westphalia

B. League of Nations

C. World War-2

D. Bifurcation of Sudan

E. Liberation of Central Asian Republics

Choose the correct answer from the options given below :

- (A), (B), (C). (E), (D)
(D), (E), (A), (B), (C)
(C)., (A), (B). (D). (E)
- (E), (D), (A), (B), (C)

1
2
3

$u

(1)1
(2) 2
(3) 3
(4) 4




R ge13fl &l 39d S a8 & IR JdRYd DI :

A. E&Whferr & gy
B. YUY
c.faygg2

D. s &I fads

E. 7] URAITS TUTcH! Bl SHeIg!
=g fau 71U fadhedl § U Ig! 3R &l 944 BIfol -

. (A), (B), (C), (E), (D)
. (D). (E), (A). (B). (C)
.(C). (A), (B), (D). (E)
.(E). (D). (A). (B). (C)

B N

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=8105]
2[Option ID=8106]

3[Option ID=8107]
4[Option ID=8108]

Sl. No.78
QBID:190078

Arrange the following wars in chronological order :

A Sino-Vietnam war
B. Iran-Iraq war

C. Russia-Japan war
D. Sudanese civil war
E. Falklands war

Choose the correct answer from the options given below :

E). (D), (A). (B). (C)
C). (A). (B), (E), (D)
D), (E). (A), (B), (C)

oA
A
A
. (A), (B), (C), (D), (E)

B O R

(1) 1
) 2
(3) 3
(4) 4

FafaRad gail & SIAb IR dRd HIFU -

A dH-fagaTm g
B. SXH-H IS
C. Y-S0 g5
D. Y8H T Ik

E. Bledhdigd <

1 fau 7Tt fadhedl § U Ug! 3R &l 94 Bl -

E). (D), (A), (B), (C)
C), (A), (B), (E), (D)
D), (E), (A), (B), (C)
A), (B), (C), (D), (E)

R N
—

(1)1
) 2
(3) 3
(4) 4

1[Option ID=8109]
2[Option ID=8110]




3[Option ID=8111]
4[Option ID=8112]

Sl. No.79
QBID:190079

Arrange the following Indian Defence Ministers in chronological order :

A. George Fernandes
B. Jaswant Singh

C. Jagjivan Ram

D. AK. Antony

E. Nirmala Sitaraman

Choose the correct answer from the options given below :

(D), (E), (A), (B), (C)
. (A), (B). (C), (E). (D)
(D), (C), (A), (B). (E)
(C). (B), (A), (D). (E)

1
2
3

i

1) 1
(2) 2
3) 3
(4) 4

frafeRad YR & Al B 37 SRiETd & I8R arRyd HIfe -

A. OIS BAS
B. Si4dd &g

C. STSlIg IH
D. U, UeH!

E. @ diarAu

i fau 71U fadhedl § 9§ Ug! 3R &l 9g4 Bifol -

D), (E). (A), (B). (C)
A), (B). (C), (E). (D)
D). (C). (A). (B), (E)
C). (B). (A), (D). (E)

N R O B
— -

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=8113]
2[Option ID=8114]

3[Option ID=8115]
4[Option ID=8116]

Sl. No.80
QBID:190080

Arrange the following wars of China in chronological order

A. Vietnam War

B. Doklam crisis

C. Sino-Indian War

D. Second war with Japan
E. Sino-Tibetan war

Choose the correct answer from the options given below :

.(A), (B). (C). (E), (D)
.(E), (D), (C). (A). (B)
. (D). (E), (A). (B). (C)
.(A), (B), (C). (D). (E)

1
2
3

b

(1)1
) 2
(3) 3
(4) 4




o & FHEfafad <l o SAh AR AaRYd Bl :

A fqgam g

B. SIbclH Ydbe

Cc. dH-YRdgg

D. ST9H & WY fgdid g
E. dH-fdsdd g

1 fau 71U fadhedl § U Ig! 3R &l 944 Bfou -

A). (B). (O). (E). (D)
E). (D), (C), (A), (B)
D), (E) (A). (B), (C)
A), (B). (O). (D). (E)

B R
— i —

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=8117]
2[Option ID=8118]

3[Option ID=8119]
4[Option ID=8120]

Sl. No.81
QBID:190081

Arrange the following in chronological order

A. China detonates Nuclear weapon
B. Bifurcation of Sudan

C. Independence of South Africa

D. Cuba missile crisis

E. Liberation of Bangladesh

Choose the correct answer from the options given below :

1. (E). (D), (C), (A), (B)
2. (A), (B), (C), (D), (E)
3.(C). (D). (A). (E). (B)
4. (D), (E), (A), (B), (C)

(4) 4

Fu ¥ o

FHREd B HIIh YR T HIfTU -

A. I gRIUTH] 3% faahle
B. Y & fadsH

C. GI&IUT 3TRThT Bl TchaId]

D. FdT ffEd Yde

E. SCTG & Hfad

1 fau 7Tt fadhedl § U Ug! 3R &l 94 Bl -

E). (D), (C). (A), (B)
A), (B), (C). (D). (E)
C). (D), (A),(E), (B)
D), (E), (A). (B), (C)

i
2.
3.
4

P R e

1[Option ID=8121]
2[Option ID=8122]




3[Option ID=8123]
4[Option ID=8124]

Sl. No.82
QBID:190082

Arrange the following events between India and Pakistan by the year of their occurance :

A. Kargil conflict

B. Indus water treaty
C. Shimla agreement
D. Agra summit

E. Karachi agreement

Choose the correct answer from the options given below :

(D), (E). (A), (B), (C)
.(E). (B). (C), (A). (D)
. (A), (B), (), (D), (E)
. (E). (D). (A), (B). (C)

1
2
3

i

1) 1
(2) 2
3) 3
(4) 4

HRJ 3IR Ui & Aed FHafaRad ge1sii &1 39 °gfed 84 & HH H cHaiyd HIfu -

A. BRIATE 99y

B. ¥y Sof-dfa

c. famen gugian

D. 3R] fARaR YA

E. SR GHINCT
i fau 71U fadhedl § 9§ Ug! 3R &l 9g4 Bifol -

D), (E), (A), (B), (C)
E). (B).(C), (A). (D)
A), (B), (C), (D), (E)
E). (D). (A). (B). (C)

N R O B
—

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=8125]
2[Option ID=8126]

3[Option ID=8127]
4[Option ID=8128]

Sl. No.83
QBID:190083

Arrange the following terror attacks in Indian cities by the year of their occurrence

A. Varanasi

B. Ahmedabad

C. Guwabhati

D. Jaunpur train bombing
E. Patna

Choose the correct answer from the options given below :

(D). (A), (B), (C). (E)
(A), (B). (C). (D). (E)
(D). (E). (A). (B). (©)
. (E). (D), (C), (A), (B)

L O R

b

(1)1
) 2
(3) 3
(4) 4




YR el § gU MafRad siidedrc! g9al &l 3+ gfed 814 & o § afid HIfou :

=g fau 71U fadhedl § U Ig! 3R &l 944 BIfol -

D), (A). (B), (C)., (E)
A). (B), (C). (D). (E)
D), (E) (A). (B), (C)
E). (D), (C), (A). (B)

B R
—

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8129]
2[Option ID=8130]

3[Option ID=8131]
4[Option ID=8132]

Sl. No.84
QBID:190084

Arrange the Presidentship of the following American leaders in chronological order

A. Abraham Lincoln
B. George Washington
C. Bill Clinton

D. Ronald Reagon

E. Jimmy Carter

Choose the correct answer from the options given below :

- (A), (B). (C). (D). (E)
- (C), (A), (B), (D), (E)
- (B). (A), (E). (D), (C)
- (E), (D), (A), (B), (C)

B O R

(1) 1
) 2
(3) 3
(4) 4

fraferRad smR®! Ad1sil B PIAHHTIR I7d IPUFT & TSR & HH H FaRYT I

A. 3fgigd fdd
B. SIS dIi2ATeH
c. fad fderdq
D. IS IH
E. NI 1R

1 fau 7Tt fadhedl § U Ig! 3R &l 94 Bl -

A), (B). (C), (D), (E)
C)., (A), (B), (D), (E)
B). (A), (E). (D). (C)
E). (D), (A). (B), (C)

R N
— o —

(1)1
) 2
(3) 3
(4) 4

1[Option ID=8133]
2[Option ID=8134]




3[Option ID=8135]
4[Option ID=8136]

Sl. No.85
QBID:190085

Arrange the following strategic partnership agreements in chronological order.

A. India — Kyrgyzstan
B. India — Japan

C. India — France

D. India — Australia

E. India — United States

Choose the correct answer from the options given below :

.(C), (D). (B), (A), (E)
(D), (E). (A). (B). (C)
. (A), (B), (C), (D), (E)
AC)(E). (B). (D). (A)

1
2
3

i

1) 1
(2) 2
3) 3
(4) 4

fFgfaRad JorHifas aRieR! 9Heidl &f 3¢ gxieRd g & a4 & &H H Jafeyd $iferu

A. HRd- feitdaq
B. HRA-SITTH

C. YRd-Whig

D. HRd-3{efer
E. HRd-3MAR®I

i fau 71U fadhedl § 9§ Ug! 3R &l 9g4 Bifol -

C). (D), (B), (A). (E)
D). (E). (A), (B). (C)
A), (B). (C), (D), (E)
C), (E), (B), (D), (A)

1
2.
3.
4

S e o e R

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=8137]
2[Option ID=8138]

3[Option ID=8139]
4[Option ID=8140]

Sl. No.86
QBID:190086

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): Atma Nirbhar Bharat aims at making the country self-reliant and the focus on local manufacturing, loecal
market and supply chain

Reason (R) :  Atma Nirbhar Bharat will prepare the country for tough competition in global supply chain, ease of doing
business and FDI.

In the light of the above statements, choose the correct answer from the options given below :

. Both (A) and (R) are true and (R) is the correct explanation of (A)

. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
. (A) is true but (R) is false

. (A) is false but (R) is true

(1)1

(2) 2

3) 3

(4) 4

R S




:ﬁﬁfﬁaﬂﬂﬁm"m% : U SfHBHYA (Assertion (A)) %Wﬁﬁﬁﬁ@ﬁ%?ﬁ GHRI 3 HRO] (Reason (R)) HEUH
&W\WQH(A%]: AR YR BT d64 G DI ASATTYRT M1 § R R fafafon, wiF aeiR vd 2myfd g@an
RYH=d gl
Qa%)ﬁ AR YR A Y[ YRaeT, THR B DI YA Ud U 31 3178 1 Udd uiaegef gd o &l

|
SWIdd B & el H, =i fGU T fddheul § 9 U8l 3R &1 994 SIfee

.(A) 3R (R) GHI 9A B 3R (R), (A) P! U ARAT ¢
.(A) 3R (R) GFI 9 B, dfd (R), (A) DI el AR ol o
(A)Jd g, AP (R) 3R ©
(A) I g, dfd (R) T §

B S s I

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8141]
2[Option ID=8142]

3[Option ID=8143]
4[Option ID=8144]

Sl. No.87
QBID:190087

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): In 2008, ISRO successfully demonstrated ability for simultaneous launch of ten different satellites (2

Indian + 8 Foreign) in different orbits.
Reason (R) : PSLV III launched five satellites of foreign nations but failed in all its attempts after 2014.

In the light of the above statements, choose the correct answer from the options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) is true but (R) is false
4. (A) is false but (R) is true
(1) 1
(2) 2
(3) 3
(4) 4
:ﬁﬁaﬁﬂﬁﬁqw% : U SfYBHYA (Assertion (A)) %Wﬁﬁﬁﬁ@ﬁ%?ﬁ G 39 HRU] (Reason (R)) HEUH -
HYDHYF (A): Y 2008 H, THRI 7 fafi Feff 1 & fafid Iuugl (2 YR + 8 faczil) & grud yego & fou
ST BT B addd UELiH [
BRU(R): 0T TS I 1 gRTfaG 20 91 & Ui STl 1 Werul fhan 1| fbeg a 2014 & UL SUb THi
Ty 9% d 38
SWRIad HYA P el H, T ST MU [ edl | 9 gl Ik &1 95 Diforg

(A) 3R (R)GFT A ¢ 3R (R). (A) B! Yg| ARAT ¢

.(A) 3R (R) GFI 9 8, b (R). (A) DI el AR el ©
(A)Jd g, dld (R) 2RI ¢

A(A) T B, Wi ®R) Td B

@1

@ 2

@3) 3

@ 4

B e I

1[Option ID=8145]
2[Option ID=8146]
3[Option ID=8147]
4[Option ID=8148]

Sl. No.88
QBID:190088




Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): Cyber space is an area where technology and International relations are interwind and are interdependent.
Reason (R) : Cyber space has proved to be a new dimension of virtual reality that has helped globalisation and new

opportunities for global capitalism and commercialism
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct

4. (A) is not correct but (R) is correct

(1) 1

(2) 2

(3) 3

4) 4

:ﬁﬁﬁaﬂﬁﬁqw% QEESIﬁI—m”W Assertion (A) )%Wﬁﬁﬁ@ﬂ%?ﬁgﬂ{l 39 HRO] (Reason{R})%Wﬁ
HBYT (A) :  HIZR WY T8 VI ¢ Sl WEllfieh] Ud Sag Jafe iU gid g iR RER FR g ¢
BRU(R):  TEeR WY T ATHIE aRAfdedT & T4 AT 1 GHITd fhar g fore dfieor ud aféyes gshiare qur
HIYADHAIGIG & (07U FdiH ARl g Ggar UeH f6a|

SWIdd HU & 3HTelld H, i ST T [qdhetl T 9 Yol Iugdd IR &I 99 BHifog

(A) 3R (R) SHI UET & 3R (R), (A) BT UL AR
(A) 3R (R) GHI Hel g, dfdh (R). (A) B! ol AR ol ¢
(A) WEI 8, Al (R) TSI TET §
(A) T8I 181 g, @b (R) U1 ©

T

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8149]
2[Option ID=8150]

3[Option ID=8151]
4[Option ID=8152]

Sl. No.89
QBID:190089

Given below are two statements :

StatementI : China launched first man-made satellite — “Dong Fang Hong I" into outer space in 1970.
Statement IT : China signed space treaty with UN called “Outer space treaty” in 1983.

In the light of the above statements, choose the most appropriate answer from the options given below :

Both Statement I and Statement IT are correct
Both Statement I and Statement II are incorrect
Statement I is correct but Statement II 1s incorrect
Statement I is incorrect but Statement II is correct

e

(1) 1
() 2
(3) 3
(4) 4

BIEEAGRIEAGURI

HYT1: = 9 YYH A [Afd Sg ST w g1 & 9y 1970 H drgT 3idier § uaiftd faar
DUAI: Y 1983 H aTel SfdRer dfer e siaRer Tt dgdd T & A1y gaaRd b1 A
SIRIed Y & 3l H, 914 G 10 el § A 9 Io) &1 95 I -

.Y 1R 1 GH 9d g
2. FUYF1 AR I GHl AT §
3. YT 1T ¢, AP YA 11 3R ©
4. BYT 13T g, dibI HUT 1 I g
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=8153]
2[Option ID=8154]




3[Option ID=8155]
4[Option ID=8156]

Sl. No.90
QBID:190090

Given below are two statements :

StatementI : Al Qaeda is an Islamic organisation that is not related to terrorism.

StatementII : Osama Bin Laden did not raise Al Qaeda.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
(1) 1

(2) 2

3) 3

4) 4

B CRE AR

DHYA1:  A-Hraal UP SIANHD Y6 g ol fddhdie U Jdfed Tg o

HUA:  HA-PIIGI B HT 69 A6 - 1M g1 |

JRIK] HYA & 3HTelip T, 1d ST U el & U T8 Iugad IR &l 99 BHiforu ;

| PYT IR I 9l &
2. HYF 1 3R 1 &HI TTad §
3. HYT 195l g, i dUT 1 TTdd o
4. HUYF 1T g, A YT 1 TS ©
1) 1
2) 2
3) 3
(4) 4

B R N

1[Option ID=8157]
2[Option ID=8158]
3[Option ID=8159]
4[Option ID=8160]

Sl. No.91
QBID:190091 ) : -
Read the following paragraph and answer the five questions that follow :

PROTECTION OF WEAKER SECTION BY KAUTILYA
Welfare of women are : spinnning work to be given to handicapped women, protection of women slaves from exploitation,
punishment for rape and protection of prostitutes against exploitation and physical injury.
Protection of children was emphasised, especially in the context of slavery and bonded labour. When an “Arva’ man had
bound himself and his family, the minors were to be redeemed first. A slave less than eight years old was not to be
compelled, against his wishes, to do menial job or work in a foreign country. The property of minors was to be held in trust
and looked after by village elders.
frafeRad e o1 ufgu ud Fd fau e wsil &1 SR difsie
B GRI HHSIR ¥l &l TREUI
Afgasi & Bl § : Hdls-gHTs B B, feoaiT Afgaral i fear Su, Afgar el &1 AN ¥ WeUl, TadR &
fo1U 2U8 3R J7arl &1 2Nor ud ARRE &ifd & faeg IRafur fdar S|
dTcteb] bl TRETUT, FRHAT SR Ud 31T HolgR & & TgH H U IR fa=iy o fear 11 3| 5 $is -2 Al
W DI T4 29 URAR B 41 S11d1 3, Tl 3D | &l Y4 Uge 3 Yad gl e | s 99 9 &H 371G Bl fddl ot
ST DI fAC H (971 SUDT 391 & [Tl Foa’id i | FifsTd o g 191 781 fhal S | 589 YR & 3(ea%D]
&1 Yufi ! fodl =y $1 <@ T @1 S0 U4 71id & §3-Jof71 gRT 34D aaHTc Bl SIe |

Which statement was not part of welfare of women as per Chanakya ?

. Spinning work for handicapped women
. Protection of women slaves

. Punishment for rape

. No education for women

(1) 1

(2) 2

(3) 3

(4) 4

B R




AU & TR DIH-H1 HY Afge3ll & Hediur ¥ Heferd g1 82

2. Hige <Ifeal a1 dRefur
3, AR & (AU qUS
4. TR B RN ST g

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8161]
2[Option ID=8162]

3[Option ID=8163]
4[Option ID=8164]

Sl. No.92
QBID:190092 ) . )
Read the following paragraph and answer the five questions that follow :

PROTECTION OF WEAKER SECTION BY KAUTILYA
Welfare of women are : spinnning work to be given to handicapped women, protection of women slaves from exploitation,
punishment for rape and protection of prostitutes against exploitation and physical injury.
Protection of children was emphasised, especially in the context of slavery and bonded labour. When an *Arya’ man had
bound himself and his family, the minors were to be redeemed first. A slave less than eight years old was not to be
compelled. against his wishes, to do menial job or work in a foreign country. The property of minors was to be held in trust
and looked after by village elders.
fAafeRad e &1 ufeu ud =i U 71U Uit &1 3R Sifsi
Plfced gRIHHSR d7 BT TET
afgarsl & Bl g - Sdls-gATs &1 b, G Afgars o iGar S, Hige Ikl &1 2N Y &0, SaldR &
o0 qUs 3R a=aral &1 2o U9 RR &ifd & e TRef fdar S|
S| BT TRV, YAl SR Ud SY3M1 ToigR o1 & g o TR0 R fa=iy o fGa1 T g | 51d Bl - 31 i
WY D1 Ud U GRAR B d31 §H1d1 3, T o] Bl a9 Ugdl 28y Had a1 Sum| 8 a4 § & 31y &l fhdl off
G &l A5 o1 3BT 381 & [l e’ i o fFiford 3 g faa el fdhan SIem | 39 UbR & WD
&1 YU &1 Tl =g &1 Sag © @1 e Ud 71id & &9 -go)fi gR1 U] aa@HTd &1 oei|

Protection of children was emphasised by Chanakya in the context of

. Slavery and bonded Labour

. Employ children as soldiers

. National security

. Espionage in foreign country
1) 1

(2) 2

(3) 3

(4) 4

TV R dTcidh| & Y& 5 HHifhd [69 el IR 9 faar mar um

1. GIYdT 3R SY3HT 7oigy
2. 9df B YHS & IR W SWHATA
3. TP gRaql
4. Tarc=it o ot
(1) 1
2) 2
3) 3
(4) 4

N R O

1[Option ID=8165]
2[Option ID=8166]
3[Option ID=8167]
4[Option ID=8168]

Sl. No.93
QBID:190093




Read the following paragraph and answer the five questions that follow :

PROTECTION OF WEAKER SECTION BY KAUTILYA
‘Welfare of women are : spinnning work to be given to handicapped women, protection of women slaves from exploitation,
punishment for rape and protection of prostitutes against exploitation and physical injury.
Protection of children was emphasised, especially in the context of slavery and bonded labour. When an “Arva’ man had
bound himself and his family, the minors were to be redeemed first. A slave less than eight vears old was not to be
compelled, against his wishes, to do menial job or work in a foreign country. The property of minors was to be held in trust
and looked after by village elders.

frafeRad e &1 ufgy ud i faw e vl &1 3R i

DI GRI HHSIR d¥f ] TRE]

HIGAI3H & BN g : Dals-g-Ts BT B, (G Higarsl I [GaT ST, HigAr GliRrl &1 YT Y WREUL, TADR &
foTU GU8 3R =l &1 2yl ud RRS &fd & faee; e fbar S|

STcTeh| T TRE/UT, AT T Ud SY31T Holgy o1 & A H TR& IR faiy o fegr man g | 5id $Is -3 i

W DI T 30 GRAR B ST S11d1 g, Tl 3oHh| &l Yoy Uge 3 Yad [l Su | s 98 9 &H 371G Bl fdd ot
G Bl fae=1 o (671 IS 3=91 o (il (HERaia o o (Fiford = od faa g [l S| 39 SR o (el
@1 YUl $I fH U A1 $1 <@g H W[ S0 U4 Tid & S -goffll gR1 3] ca@HTd &1 ogi|

A slave was not to be compelled against his wishes for menial jobs under the age of

7 years
. 8 years
. 9 years
. 10 years
1) 1
(2) 2
(3) 3
(4) 4

Tl &g &l fa1 IHD1 2=81 & bl Fraeaiia o o [ 3 8q fhd 39 &1 31g ddb faa=r 181 faar s«

7Y
L
ody
.10dy

1 1
(2) 2
(3) 3
(4) 4

B e N

S R T

1[Option ID=8169]
2[Option ID=8170]
3[Option ID=8171]
4[Option ID=8172]

Sl. No.94
QBID:190094

Read the following paragraph and answer the five questions that follow :

PROTECTION OF WEAKER SECTION BY KAUTILYA
Welfare of women are : spinnning work to be given to handicapped women., protection of women slaves from exploitation,
punishment for rape and protection of prostitutes against exploitation and physical injury.
Protection of children was emphasised, especially in the context of slavery and bonded labour. When an “Arya’ man had
bound himself and his family, the minors were to be redeemed first. A slave less than eight years old was not to be
compelled, against his wishes, to do menial job or work in a foreign country. The property of minors was to be held in trust
and looked after by village elders.

RfeRad TTei=r &1 ufgu ud id fau T usi &1 3R Eifoie

DIfced GRI DR 71 T TRET

TfgelIsfl & HeIvl g : Ddls-gHTs B b, foit Aigarsi &1 fear S, Higdr ikl &1 Yl ¥ WU, TdDR &
fo1U qUs 3R a=arl &1 29U Ud RRE &fd & fae e fdhgr S|

S| 1 TREUT, YA ST U ST ToigR a1 & AgH o TR0 WR [a=iy §a 301 TR/ g | ofd Bl - - ik

4 DI T4 U GRAR DI G311 §HIG1 5, 1 30| I G4 Ugdl 208 o 161 SU| 8 98 I &1 31 B fhdl 1
&I &l facw o fo1 S9! w1 & foh il Feradia & o Fiford w3 gd faar =181 favar S| 39 UebR & el
&1 Gufy & forddt =09 Pt <@ H @[ S0 U4 71id &b So-golfTl gRT 3UP! o@HTd P SIai |




The property of minors was to be managed by

. The King

. Friends of minors

. Atrust and looked after by village elders
. Any one

1)1

(2) 2

3) 3

4) 4

5l 3/aER® & YU FHifdd [Bad gRI U&ldd &f S i

1. ST gIRT
2. 3D & B gRI
3. 1 UG 7id & g8 g9l gRI YT [T ST T

4. P15 W

1) 1
2) 2
3) 3
(4) 4

B R

1[Option ID=8173]
2[Option ID=8174]
3[Option ID=8175]
4[Option ID=8176]

Sl. No.95
QBID:190095 ) . .
Read the following paragraph and answer the five questions that follow :

PROTECTION OF WEAKER SECTION BY KAUTILYA
‘Welfare of women are : spinnning work to be given to handicapped women, protection of women slaves from exploitation,
punishment for rape and protection of prostitutes against exploitation and physical injury.
Protection of children was emphasised, especially in the context of slavery and bonded labour. When an “Arvya’ man had
bound himself and his family, the minors were to be redeemed first. A slave less than eight vears old was not to be
compelled, against his wishes, to do menial job or work in a foreign country. The property of minors was to be held in trust
and looked after by village elders.
frafeRad Teie 1 ufgq ud i fau 71u usil &1 SR i
DI GRI AN d7 BT UET
Tgaredl & Bl § - Hdls-gATs S B, G Afgarsi o iGa1 S, Hige IRl &1 MY Y &0, SadR &
o0 qUs R I=argl &1 90T ud MRRE &ifd & e Y& far S|
STcIoh| T TREIUT, TBIUT SIYT Ud SY3MT Toigy -1 & T o TR&vr iR faiy o fegr man § | 5id IS -3 i
W $I U4 30 GRAR Bl ST I11d1 3, Tl 3D | D Y4 U 344 Yad [l Su | s 98 9 &Y 371G Bl fdbd it
G &l faa=r o (91 3! 381 o (ol et & o [FRiforg & gd faa g fasan S| 39 UdR & (e0b!
o1 YU 31 fHH I 31 Gad § 7@ A0 U4 719 & S -9 aR1 U] caHTd &1 og|

Who all were considered as weaker sections ?

. Women

. Business people
. Ministers

. Enemy

(1) 1

(2) 2

(3) 3

(4) 4

Fgifed § 9 ©F SR & & ©0 § 9031 od 22

1. Afgan
2. Saurl dRT
3. 0l
4.7
(1)1
(2) 2
3) 3

B




(4) 4

1[Option ID=8177]
2[Option ID=8178]
3[Option ID=8179]
4[Option ID=8180]

Sl. No.96
QBID:190096 ) . )
Read the following paragraph and answer the five questions that follow :

Chhatrapati Shivaji Maharaj — The Great Maratha Warrior
Young Shivaji reached Pune, a dying fort city with his mother Jija Bai and lighted the first lamp within its ruins. While his
father Shahaji Bhosle was away on a deputation by Adil Shah Sultanate and failed in a revolt against it. Shivaji learnt how
an empire is built from the seratch. Thus began the life of the Great Maratha.
What awaited Shivaji was nothing short of the vast scroll of history, and it took him from Surat to Thanjavur and all the way
to Aurangzeb’s durbar in Agra. His dreams of freeing his land from the clutches of Mughal rule. and though he suffered
many defeats and personal losses along the way, he never gave up his vision of Hindavi Swaraj.
Shivaji became a leader, a warrior and a tactician par excellence driven by pride and love for his motherland.

fafaRad e $1 ufeu ud i fau v uyl &1 IR i

g4 fRIGTSil 3U- AT SiSTETs & 91 ARUMH Gi-FR U0l Ugd 3R 34 sl H Yo €1 fidlidd fdhar| 34d
O Mgl YN e e & (9% Hifd & f[a%hd 8iH & ugld 3iidd g ea-d H UfdFHdfdd TR d1eR 4| R -
g YRT b U HET &1 ST TR Y oy T a1 Sidr g1 39 UBR Uh HgH HRI81 YT BT Sifg- RY gidl

gl

W%Wﬁﬁmwagsmwémeq&ﬁ@waﬁw 3R Sl 38 YR U oolR dob o 31 SR 34!

SHAE O 9 SFRTH RISl amqu e UgH | dr‘éH 3T I Bl Il UG & 7l Y Gad B bl WU |

gﬂaig%ﬁafmﬁdrﬁm 3! GRTS1T Ud SAfaavTd &fcrdl &1 9T fhdl, TR 35 20 fgedl RS & ded
BRI

fRrarsit 39 AIgyA & Ufd 7Rd Ud Uh 9 URd §idh) d98 4D, Alg] U4 Wl 94|

Mother of Shivaji Maharaj was

Jija Bai
Savita Bai
Raji Bai
Bija Bai

A e

1) 1
(2) 2
3) 3
(4) 4

Al HeRS &1 AT & A2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8181]
2[Option ID=8182]

3[Option ID=8183]
4[Option ID=8184]

Sl. No.97
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Read the following paragraph and answer the five questions that follow :

Chhatrapati Shivaji Maharaj — The Great Maratha Warrior
Young Shivaji reached Pune, a dying fort city with his mother Jija Bai and lighted the first lamp within its ruins. While his
father Shahaji Bhosle was away on a deputation by Adil Shah Sultanate and failed in a revolt against it. Shivaji learnt how
an empire is built from the scratch. Thus began the life of the Great Maratha.
‘What awaited Shivaji was nothing short of the vast scroll of history, and it took him from Surat to Thanjavur and all the way
to Aurangzeb’s durbar in Agra. His dreams of freeing his land from the clutches of Mughal rule, and though he suffered
many defeats and personal losses along the way, he never gave up his vision of Hindavi Swaraj.
Shivaji became a leader, a warrior and a tactician par excellence driven by pride and love for his motherland.

frafeRad e &1 ufgu ud i fau 1u usi &1 3w difor

41 fRrarsil 0=t A1l SielTeTs & 91 ARG g1--FR U0l Ugd 3R 38 WagRl d UYH iU Tdlidd fhar| 34

0T 2Mgsil YN 3G 28 & 4% Hifd H f[a%hd giH & ugld siicd g Hed-d H UidHgfad R d1gR 41 Ridrsi -

gsqﬂ@ﬁwaawﬁam:ﬁwﬁaﬁﬁﬁaﬁmmﬁsﬂwww TRIST Y91 BT Sha SRY gl
|

T2rarsil & fo1u St Uciiférd 41 9g Siderd & fa%gd Ul d 8 AT 41, 3R §l 3% Ra 4 a6k do o A 3R 34

M H 4 PRI H RIGId & AR b Ugd | 351 30 I8 Bl G MY & 97l U Had DI DI &Y &l |

T%@W@Hﬁ@#ﬁaﬁﬁwqﬁwfm &ifcr! 1 T a1, TR S 31dH fead wrsl & e
EEEIS

FRraroit Ot ATgYA & Ufd Ra Td UH 3§ URd gids Gd98 214, iG] Ud Wil a1

Shahaji Bhosle was working with

1. Adil Shah
2. Mahmud Gaznvi
3. Mohammed Rasu
4. Sheikh Shaji

1) 1

(2) 2

(3) 3

(4) 4

TMgSl HINd [HgfaRad | U fud I1y &1 &d 42

1[Option ID=8185]
2[Option ID=8186]
3[Option ID=8187]
4[Option ID=8188]

Sl. No.98
QBID:190098




Read the following paragraph and answer the five questions that follow :

Chhatrapati Shivaji Maharaj — The Great Maratha Warrior
Young Shivaji reached Pune, a dying fort city with his mother Jija Bai and lighted the first lamp within its ruins. While his
father Shahaji Bhosle was away on a deputation by Adil Shah Sultanate and failed in a revolt against it. Shivaji learnt how
an empire is built from the scratch. Thus began the life of the Great Maratha.
‘What awaited Shivaji was nothing short of the vast scroll of history, and it took him from Surat to Thanjavur and all the way
to Aurangzeb’s durbar in Agra. His dreams of freeing his land from the clutches of Mughal rule, and though he suffered
many defeats and personal losses along the way, he never gave up his vision of Hindavi Swaraj.
Shivaji became a leader, a warrior and a tactician par excellence driven by pride and love for his motherland.

frafeRad e &1 ufgu ud i fau 1u usi &1 3w difor

41 fRrarsil 0=t A1l SielTeTs & 91 ARG g1--FR U0l Ugd 3R 38 WagRl d UYH iU Tdlidd fhar| 34

0T 2Mgsil YN 3G 28 & 4% Hifd H f[a%hd giH & ugld siicd g Hed-d H UidHgfad R d1gR 41 Ridrsi -

gsqﬂ@ﬁwaawﬁam:ﬁwﬁaﬁﬁﬁaﬁmmﬁsﬂwww TRIST Y91 BT Sha SRY gl
|

T2rarsil & fo1u St Uciiférd 41 9g Siderd & fa%gd Ul d 8 AT 41, 3R §l 3% Ra 4 a6k do o A 3R 34

M H 4 PRI H RIGId & AR b Ugd | 351 30 I8 Bl G MY & 97l U Had DI DI &Y &l |

T%@W@Hﬁ@#ﬁaﬁﬁwqﬁwfm &ifcr! 1 T a1, TR S 31dH fead wrsl & e
EEEIS

FRraroit Ot ATgYA & Ufd Ra Td UH 3§ URd gids Gd98 214, iG] Ud Wil a1

Shivaji campaigned in India covering

. Kashmir, Kannauj and Karnataka
. Delhi, Kannauj and Assam

. Surat, Thanjavur and Agra

. Surat, Punjab and Himachal
11

(2) 2

3) 3

4) 4

TRrarsi 3 (afeRad &= & sfresied gq HHEH I

1. HRHR, B 3R HAleD
2. Teeelt, ddiel 3R 3 H
3. R4, USIR 3R 3ARI
4. YR, U979 3R fgrrd
1) 1
() 2
(3) 3
(4) 4

O R

1[Option ID=8189]
2[Option ID=8190]
3[Option ID=8191]
4[Option ID=8192]
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Read the following paragraph and answer the five questions that follow :
Chhatrapati Shivaji Maharaj — The Great Maratha Warrior
Young Shivaji reached Pune, a dying fort city with his mother Jija Bai and lighted the first lamp within its ruins. While his
father Shahaji Bhosle was away on a deputation by Adil Shah Sultanate and failed in a revolt against it. Shivaji learnt how
an empire is built from the scratch. Thus began the life of the Great Maratha.
‘What awaited Shivaji was nothing short of the vast scroll of history, and it took him from Surat to Thanjavur and all the way
to Aurangzeb’s durbar in Agra. His dreams of freeing his land from the clutches of Mughal rule, and though he suffered
many defeats and personal losses along the way, he never gave up his vision of Hindavi Swaraj.
Shivaji became a leader, a warrior and a tactician par excellence driven by pride and love for his motherland.
faferRad e o ufeq ud i< fau g usit &1 SR difoie
1 TRrarsil U=t A1 Siuiels & 91 ARG g1--FR U0l Ugd 3R 38 Tserl § UYH iU Tdlicd fhar| 34
TOdT =MgSll I SIice Mg & (a9 Hifd H [dWd gi- & ugld i =g ea-d H Uidi-gfad IR drg 41 fRrarsi -
ga@@ﬁiwwmﬁmwﬁaﬁﬁﬁﬁa%mw% TYUDR UH HeM TR Y9! T Siidd RY gl
|
fRrarsit o feru i wciférd 1 ag 3fdery & fasgd ual ° &0 =181 U1, 3R Sl 38 URd U el dob o 31y ok 24
S H d PRI H RIId & R o Ugd | 361 30 Iy BI Gl MY & 7 Y Had DI DI &Y &l |
foryes foe 3 21ftm 5 3= ST RIS Ud aafaara afadl &1 a1 far, e 3siH A0 fied TR & @6
CAREEIS
FRraroit Ot ATgYA & Ufd Ra Td UH 3§ URd gids Gd98 214, iG] Ud Wil a1

Shivaji dreamt of freeing his land from clutches of

. British rule

. Mughal rule

. Sikh rule

. Mauryan rule
1

(2) 2

(3) 3

(4) 4

TRrarSil = oy Iy &l FEfaRad o ¥ figd e 9§ Qe S &l Wy adD
1. fafe=r ame

S R

1[Option ID=8193]
2[Option ID=8194]
3[Option ID=8195]
4[Option ID=8196]
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Read the following paragraph and answer the five questions that follow :
Chhatrapati Shivaji Maharaj — The Great Maratha Warrior
Young Shivaji reached Pune, a dying fort city with his mother Jija Bai and lighted the first lamp within its ruins. While his
father Shahaji Bhosle was away on a deputation by Adil Shah Sultanate and failed in a revolt against it. Shivaji learnt how
an empire is built from the scratch. Thus began the life of the Great Maratha.
‘What awaited Shivaji was nothing short of the vast scroll of history, and it took him from Surat to Thanjavur and all the way
to Aurangzeb’s durbar in Agra. His dreams of freeing his land from the clutches of Mughal rule, and though he suffered
many defeats and personal losses along the way, he never gave up his vision of Hindavi Swaraj.
Shivaji became a leader, a warrior and a tactician par excellence driven by pride and love for his motherland.
faferRad e o ufeq ud i< fau g usit &1 SR difoie
41 fRrarsil 0=t A1l SielTeTs & 91 ARG g1--FR U0l Ugd 3R 38 WagRl d UYH iU Tdlidd fhar| 34
0T 2Mgsil YN 3G 28 & 4% Hifd H f[a%hd giH & ugld siicd g Hed-d H UidHgfad R d1gR 41 Ridrsi -
g’gqﬂ@ﬁiwwﬁaﬁwﬁaﬁﬁﬁﬁaﬁmm% U UGR U HgM TRIST YT BT Siia- SRY gidl
|
T2rarsil & fo1u St Uciiférd 41 9g Siderd & fa%gd Ul d 8 AT 41, 3R §l 3% Ra 4 a6k do o A 3R 34
M H 4 PRI H RIGId & AR b Ugd | 351 30 I8 Bl G MY & 97l U Had DI DI &Y &l |
foryes foe 3 2Afim B 35 S RIS Ud aafaara afadl &1 Q1 far, R 3514 A0 fied TR & @6
CARHEIS]
FRraroit Ot ATgYA & Ufd Ra Td UH 3§ URd gids Gd98 214, iG] Ud Wil a1

Vision of Shivaji Maharaj was

1. Sabhya Bharat
2. Sampurna Bharat
3. Hindavi Swara|
4. Mandavi Swaraj

1

(2) 2

(3) 3

(4) 4

TRrarsil HERTS &1 deg Ul

1. 99 4YRd
2. 9guf YRd
3. fgedl TR
4. Aigdl TS
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8197]
2[Option ID=8198]

3[Option ID=8199]
4[Option ID=8200]

Sl. No.101
QBID:3201001




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

le M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
TR TR U DI IR ST -

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The ratio of the number of females to the number of males in City-E working in SBI, UCO and IOB together is :

1173 ;173
2.173 =177
% A725077
4.172 1175

(1) 1
) 2
(3) 3
(4) 4

QIEY E H U133, bl SR TS 3Mldl H FHY R Algclsfl B W1 iR Jou] o] W1 1 SUId 1 g 2

1.:173 5175
LI 7 . S T
3. 1725 17%
41722175

(1)1

) 2

3) 3

(4) 4

1[Option ID=8601]
2[Option ID=8602]
3[Option ID=8603]
4[Option ID=8604]

Sl. No.102
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
SR IR U & IR alfolg ;

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The approximate percentage of the number of females with respect to the number of males across all the banks
together in City-B is:

1. 88%
2.98%
3.78%
4. 86%

1) 1

(2) 2

(3) 3

(4) 4

Qg B H Hdl dh1 H [AeTeh? B Aigarsil &1 Tegn Youi @1 YT o1 TRTHIT fdod=T Wia=Td ¢ 2

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=8605]
2[Option ID=8606]

3[Option ID=8607]
4[Option ID=8608]

Sl. No.103
QBID:3201003




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
SR IR U & IR alfolg ;

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The number of females working in UCO from City-A is approximately % more than the number of
females working in PNB from the same city.

(4) 4

R A H IP! §F H B Afgarsil o1 weam 341 wgR H Uiedd! § drikd Higarsi &l Hwear 3 T
fa e Hicr=Ia 31fdieh g 2

1.2
2.1
3.1

.
T
tad
—
e
o~

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8609]
2[Option ID=8610]

3[Option ID=8611]
4[Option ID=8612]

Sl. No.104
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
SR IR U & IR alfolg ;

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The total number of females working across all the six cities together is more than 1700 in:

1. all the six banks
2. exactly three banks
3. exactly four banks
4. exactly two banks
1) 1
) 2
(3) 3
(4) 4

Tt B8 el & Bk Afgarel o Te Fafatad 7 9 feaw 1700 T 319w § 2

1. 94 o5 dbl H
2. Bid i sl |
3. 3@ IR dHi A
4. Bl al dbl H

1) 1

(2) 2

(3) 3

) 4

1[Option ID=8613]

2[Option ID=8614]

3[Option ID=8615]
4[Option ID=8616]

Sl. No.105
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

le M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
TR TR U DI IR ST -

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
WB?l M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The difference between the number of males working across all the six banks together in City-C and the number
of males working across all the six banks together in City-D is:

1. 1022
2.1214
3. 1198
4. 1084

1) 1

(2) 2

(3) 3

(4) 4

QER C & Gl B dbl H HIRT oY @1 U1 3R e D & GHI §¢ dobl H SRR JouI &1 W1 & |9
B R [Ha1g 2

1. 1022
2.1214
3.1198
4.1084

1

) 2

(3) 3

4 4

1[Option ID=8617]
2[Option ID=8618]
3[Option ID=8619]
4[Option ID=8620]

Sl. No.106
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Both students and teachers work harder and persist longer when they have a high sense efficacy. Which of the
following does not enhance self-efficacy in both students and teachers?

1. Day to day success in achieving tasks

2. Formal school relationships that focus solely on skills

3. Assistance from more knowledgeable partners

4. High expectations from those in the environment

1) 1

() 2

(3) 3

(4) 4

faemeif 37k e qd 31 SR URYA B ¢ 3R W THY TP S I6d ¢ 9d 36 YHAIAIGHl Bl 3=
qly gldl g | FafeiRad | 9 a1 faanfial oiR Rl <l § W-uHHidesdl H dfa 78l ddi g 2

1. BEAYR G D | i e
2. T DI TR bisd A= ey ddy
3. Sife I W HIAT ¥ Weradl
4. GRAY H GO Y 3AlYD 3Uemy
1) 1
() 2
3) 3
4) 4

1[Option ID=8621]
2[Option ID=8622]
3[Option ID=8623]
4[Option ID=8624]

Sl. No.107
QBID:3201007

Direct instruction is most suited when teachers:

1. teach basic skills
2. have their students explore pathways to solve a mathematics problems
3. encourage their students to refine their creativity in art
4. assign critical thinking exercises
1
(2 2
(3) 3
(4) 4

Y& 32 Ydiitieh Juger gidl ¢ e A& -

1. g oI T e ed g 1
2. 31g+ faenfial 9 nifordta Tt g9 ® & Il Bl AU HRAA G |
3. U+ faeniel &1 el H# IAD] FofidADdl & URDR & oy HieHIfgd HId & |
4. HiATTHS faaRur 29 9igd § |
@ 2
(3) 3
(4) 4

1[Option ID=8625]
2[Option ID=8626]
3[Option ID=8627]
4[Option ID=8628]

Sl. No.108
QBID:3201008




Match List I with List IT

LIST I (learning style) LIST II (Learning characteristics)

R — I Ccncr‘_ate. experience and reflective
observation

B [Biiremes n Concr_ete experience and active
expernimentation

& Wessaies . Abs‘frgcr conc eptualization and Active
experimentation

D. |k v |A bstract conceptualization and reflective)

observation

1. A-III, B-1V, C-IL, D-I
2. A-IIL, B-1, C-1V, D-II
3. A-IV, B-1, C-11, D-IIT
4. A-1IV, B-I. C-1IL. D-1II

Choose the correct answer from the options given below:

1) 1

2) 2

(3) 3

4) 4

Gl 11 g=l 1 9 fAar Sifse

1 1 (AT T T 11 (SATAATH SHTHwa)

. o %ﬂ%ﬁ?ﬁﬂ%
. |ER® I mﬁwﬁﬁwm
C  [EaS i, [T SremeiR
D [OHMEeS v, &mﬁﬁfsi;ﬁiwaiz SR

fofeiRad Aol & 9 Iel 3R &7 994 BIoY ;

.A-IL B-1IV, C-11, D-1
CA-IITL B-1L C-IV, D-I1
.A-IV. B-1, C-II. D-1II
4. A-IV, B-1, C-III, D-III
(1)1
(2) 2
3) 3
(4) 4

|
2
3

1[Option ID=8629]
2[Option ID=8630]
3[Option ID=8631]
4[Option ID=8632]

Sl. No.109
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Match List I with List IT

LIST I (Type of memory) LIST II (Meaning)
: Memory of remembering the route to
A, |Semantic L At i =
drive home
Memory that contributes to vour
B. [Episodic II. |sense of self. vour own history or
identity
C. JAutobiographical III. [Memory of General knowledge
Sl v Memory of life e\'_enrs that happened
to vou or around vou

Choose the correct answer from the options given below:

1. A-III, B-1V, C-IL, D-I
2. A-II, B-1V, C-111, D-1
3. A-III, B-1I, C-1V, D-1
4. A-1II, B-1, C-1II, D-IV

1) 1
2) 2
3) 3
(4) 4
Gl 11 g=l 1 9 fAar Sifse
e 1 (Fid T TPR) T 11 (3%
A ki ¢ gmﬁcqfﬁmnﬁwaﬂﬁaﬁ
g Ffd =1 AT Shd @, AHTd
B. [SUBIHES I |HUH (e 3udl UgaH & a1y |
TrTe Bl &
C. [srEmuE® Il [ 9E &1 S
. |S1TOts Ty 31YET HTUd HEUH
D. [ . - geAr & |

frofafad fasedl & 9 98l SR &1 994 Sifu -

1. A-IIT, B-1V, C-I1, D-I
2. A-TI, B-IV, C-1II, D-1
3. A-IIT, B-II, C-IV, D-1
4. A-II1, B-1, C-1I, D-IV

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8633]

2[Option ID=8634]

3[Option ID=8635]
4[Option ID=8636]

Sl. No.110
QBID:3201010

If you want to assess the students performance and want to give them immediate feedback, which software will
you select?

1. Kahoot
2. Animaker
3. Plotagon
4. Powtoon

11

(2) 2

(3) 3

4) 4




gfe 31 faefal & S Y= &1 Jedih 1 dlgd & 3R 3= dabld Uiy ¢A1died 8. of o g o
3 frg Qi dmR &1 g1 2

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8637]
2[Option ID=8638]

3[Option ID=8639]
4[Option ID=8640]

Sl. No.111
QBID:3201011

Arrange the following research components in correct sequence:

A. Preparing a research plan

B. Collecting Data

C. Drawing conclusion

D. Formulating a research question/objectives
E. Analyzing data

Choose the correct answer from the options given below:

1.AD.B.E.C
2.D,A.B.E,C
3.B,D,A,C,E
4, A,B,D,C.E
(1) 1
(2) 2
(3) 3
(4) 4

aiaRad =iy Yeed! & Ug! AIHH H gaRyd HIIT;
A. RIT¢ TISHET TR B3]

B. i s Uhd HIl

C. e fAare

D. Y UH/35 24l BT (A=Y

E. 3ib sl Pl [d2dyur

1< fau Y fa el H ¥ T8 Iugdd IR b1 99 DIfT:

1.AD,B,E,C
2.0, A,B.E. €
3.B.D,A,C.E
4 A,B,D,C.E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8641]
2[Option ID=8642]
3[Option ID=8643]
4[Option ID=8644]

Sl. No.112
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In a data set any extreme value, either very large or very small, compared to the rest of the data, is said to be:

. Exceedance
. Outlier

. Extreme

. Outsider
1) 1

(2) 2

3) 3

4) 4

U 3ol & =4 H [l 3 U Bl ol AY Hidbs| &I da-l H I1 dl 9gd dodl dgd DIcT 6, bedldl o
|

W I =

=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8645]
2[Option ID=8646]

3[Option ID=8647]
4[Option ID=8648]

Sl. No.113
QBID:3201013

In online surveys, which of the following are sampling issues ?

A. People in a household may use the same computer, as they have access to only one.
B. Many respondents may have multiple email IDS.

C. Internet users constitute a biased sample of the population

D. Sampling frames for online surveys are cheap.

E. The governments restrict online surveys.

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.B, C and D only
3.C,D and E only
4. A, Cand D only

1) 1

() 2

(3) 3

(4) 4




HIarg Fdeon # FyfaRad # 9 SH-911 9 Uld=u- 48 ¢ 7

A. Tod! T TR & @1 U gl LR b1 WaRT 6d gi lifds 3 I HIF Ub gl HheR © |
B. 3% ITRaldIsl @I dglid sHd Ugd (ID) Bl Uil ¢ |

C. $XIC YAIadT S1ERaT b1 Ueh Ydiug! Uide=igld © |

D. HITeATZ" Hd&ull P T ufd=- hH 9xi § |

E. PR A3 A&l &I Wideied ddl g |

il faU 7Y fdpedl H I 9ad Iugdd IR &I 94 DI

1.HAd A, B. C

1[Option ID=8649]
2[Option ID=8650]
3[Option ID=8651]
4[Option ID=8652]

Sl. No.114
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Mean of a data set is equivalent to:

1. First quartile of that data
2. Second quartile of that data
3. Third quartile of that data
4. Interquartile range of that data
1) 1
() 2
(3) 3
(4) 4

el U sfiheT GH=9d 1 {1 Y | U fhyd TaF g 2

1. 39 s BT yH agdid

2. 39 Hibsl Bl fgdid gl
3. 39 Hibsl BI gl Iqdd

4. 3K bl bl 3fd: gadd R
1) 1

(2) 2

(3) 3

4) 4

1[Option ID=8653]
2[Option ID=8654]
3[Option ID=8655]
4[Option ID=8656]

Sl. No.115
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Given below are two statements:

Statement I: Like correlation, statistical regression examines the association or relationship between variables.

Statement II: The primary purpose of regression is prediction.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement T and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
1) 1

(2) 2

3) 3

) 4

fH APy RUU S

TYA 1 : Yoguae P Hifd, TiRSTHTT THIYTO <=1 & Tgad 3Ual 3d sid & Jaeif i Sfid 1 g |
DY I : FHIHTU] BT WD 339 YN 6 |

IWRIad HYA & 3fdiep |, Fd fau MU [dwedi # Ul IR &1 98- Hifore:

1. FUTIR I SHI Tal § |
2. FYF IR I SHI A § |
3. HYF 1 el 6, AP FUA I ITAd & |
4. YT 170d g, AfbT AT I TR § |

1) 1
) 2
(3) 3
(4) 4

LS I S I

=

1[Option ID=8657]
2[Option ID=8658]
3[Option ID=8659]
4[Option ID=8660]

Sl. No.116
QBID:3201016

In governance, communication is normally used as a means of:

1. Gender division
2. Preserving power
3. Encouraging illegal actions
4. Alienating the masses
1
(2 2
(3) 3
(4) 4

QTG H, HUNUT &1 SR SRl 9 J 9 59 & 919 & © 9§ [Ha1 Sar g 2

B GUACEISE

PRIRICARE |

3. 3{dY BRI B UicTed DAl
4. SdT D1 faHd BT

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=8661]
2[Option ID=8662]
3[Option ID=8663]
4[Option ID=8664]




Sl. No.117
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A good part of communication in human society is through:

1. Para language
2. Infographics
3. Formal language
4. Hidden emotions
1
(2 2
(3) 3
(4) 4

HAHd THS H HUY0 &1 U Jol e MY d 9 fh9 b A Y gidi 6 2

1. YRTHMYT

2. G - 3T (SBIThad)
3. SO HINT
4. U=5e HId

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8665]

2[Option ID=8666]

3[Option ID=8667]
4[Option ID=8668]

Sl. No.118
QBID:3201018

Which of the following elements involving social positions are determinants of communication from the eastern
perspectives?

A. Absence of leadership

B. Ego-centric individualism
C.Role

D. Status

E. Power

Choose the correct answer from the options given below:

1. A, Band C only
2.B, Cand D only
3.A, CandE only
4.C.D and E only

1

(2 2

(3) 3

(4) 4




gdf aRvied I i Uel &l Siasiddi did i+ 9 fHdifdd dad GUy & ek g 2
A. FJcd BT 3HId

B. 3gH hi-id Aliare

C. HfH®T

D. efigd

E. 2l

i< feu T famegl O O Yel 3R &1 98+ Difoie -

1.$Hdd A B.C
2. HddB. C.D
3. Hdd A, C.E
4. HAdC.D.E

1) 1

() 2

(3) 3

4) 4

1[Option ID=8669]

2[Option ID=8670]

3[Option ID=8671]
4[Option ID=8672]

Sl. No.119
QBID:3201019

Given below are two statements:

Statement I : The linear model of communication is used for generating intentional results.

Statement II : The linear model of communication was the basis of propaganda during the World War II.
In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement IT are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
1) 1
(2) 2
(3) 3
4 4

BIEEAEAIC A 1

DY 1 : YUNUT b SAG HISA DI TR ST IR0 [HebTa- o fe1e fhar Sirar g |
DY 11 : YUY b1 1Y Hisd fgdia 9% g & SR 3119 U=R &1 3R o7 |
S BYF &b 3Mcld H, i fT T fdb el # Tel TR BT 98 Piforg:

1. FUFISR A TG |

2. U IR I GH A § |

3. FUTITA G, AP YT 3T ¢ |
4. FYFI 3T 8, dibd YT M I ¢ |

(1) 1
) 2

W b =

da




3) 3
(4) 4

1[Option ID=8673]
2[Option ID=8674]
3[Option ID=8675]
4[Option ID=8676]

Sl. No.120
QBID:3201020

Given below are two statements:
Statement I : Coercive communication is ethical, powerful and result-oriented.

Statement II : In international power politics, unethical propagandist communication promotes national prestige
and security.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

4) 4

TR A FART T E:
DY 1 : U GUYUT Afde, F2rad 3R gRUTHFdl gidrg |
DY 11 : SHTRAPIY T Ao H SATTD SATYTIRATE FU0T AT HANT 3R GR&T DI 9161 ol 6|

IURIFd HUA P 3fTclld H, i fGT MU [dhedi # TGl IR D1 I8 DIfOIT:

1. HYTI RIS I &
2. HYTI AR I SH e &
3. HYTIII g, dfbd HYA I AT ©
4. PYTI A ¢, AP YT I T ©
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8677]
2[Option ID=8678]

3[Option ID=8679]
4[Option ID=8680]

Sl. No.121
QBID:3201021

Find the next term in the series given below:
o815, 1357

.18

i

ad [mD

B 7
(1)1
(2) 2
(3) 3
(4) 4

.




1= <Y 778 el H BRI Ug J1d BIIT:

-7,-5,-1,5,13,7?

L I

I

L)

(1)1

) 2

(3) 3

(4) 4

1[Option ID=8681]
2[Option ID=8682]

3[Option ID=8683]
4[Option ID=8684]

Sl. No.122
QBID:3201022

N men can complete a job in 12 days. The same job can be completed by (N+6) men in 8 days. Find the value of
N

11

D D =

.

212
1
(2 2
(3) 3
4 4

N e febdl b i 12 oAl H qrI R "ebdl ¢ | Il 1 1 (N+6) oalerrall gRT 8 ol H YR favan i epell
© | N T HIF J1d SIS

11

S S

.

12

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8685]
2[Option ID=8686]

3[Option ID=8687]
4[Option ID=8688]

Sl. No.123
QBID:3201023

A beggar has Rs. 15 comprising of 50 coins of 25 paisa and 50 paisa. How many 25 paisa and 50 paisa coins are
there with the beggar respectively?

.40, 10
. 30,20
35,15
.36, 14
(1) 1
(2) 2
(3) 3
(4) 4

b b =

.




U TR & Ui 25 U9 3R 50 T & 50 [gdi ®i [HaHR 15 390 g | FFRIRT & 919 A 25 U9 3R 50
T & fpaa fRads ¢ -

.40, 10
. 30,20
.35 15
.36, 14
(1)1
) 2
(3) 3
(4) 4

S R S

B

1[Option ID=8689]
2[Option ID=8690]
3[Option ID=8691]
4[Option ID=8692]

Sl. No.124
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If the price of sugar increases by 25%, determine the percentage by which its consumption be reduced so as not
to increase the expenditure on it?

=l B =

.

VSIS
=]

)

(1)1
) 2
(3) 3
(4) 4

i =i 1 ged 25% d¢ SIdl 6, dl 39D SUHNT H {bd- Hid=Id S HHI DI O o 39 Wy H df 7
al

25%
30%
207
. 35%
1 1
) 2
(3) 3
(4) 4

L S R

B

1[Option ID=8693]
2[Option ID=8694]
3[Option ID=8695]
4[Option ID=8696]

Sl. No.125
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A lady while going to her college in a car drove 20 kms towards north and then 15 kms towards west. She then
turned to the south and covered 10 kms. Further she turned to the east and moved 12 kms. Finally she turned
right and drove 10 kms. How far and in which direction is the lady from her starting point ?

1. 5 km, South
2. 5 kim West
3. 3 km, West
4. 3 km, North

1) 1

(2 2

(3) 3

4) 4




Uh Afgdl 39 Diciol oild IHY IR P 31R 20 fbHt 3R R 15 fHH gfyq &Y 3R $R gardi g | 9g
GI&0T T SR Hdl § 3R 10 fhel ®1 g qU Bl & | S 98 Ud DI 3R A1 ¢ IR 12 [hH Iadi g |
Wzﬂ;&@ﬁ@?ﬁ@?ﬂ%aﬁmoﬁﬁwaﬂﬁ% | HISET 3UT RIS (95 I fdal g SR [y
feamd g o

.5 Topul, <l
.5 et ufem
.3 Tl ulgm
3 el 3R

(1) 1
(2) 2
(3) 3
(4) 4

L R S R

.

1[Option ID=8697]
2[Option ID=8698]
3[Option ID=8699]
4[Option ID=8700]

Sl. No.126
QBID:3201026

"Environmentalists are continually harping about the dangers of nuclear power. Unfortunately, electricity is
dangerous no matter where it comes from. Every year hundreds of people are electrocuted by accident. Since
most of these accidents are caused by carelessness they could be avoided if people would just exercise greater
caution." Which fallacy is committed in the above argument?

. Red Herring

. Slippery Sope

. Strawman

. Hasty Generalization
(1

(2 2

(3) 3

(4) 4

"IgiaRuIfdE AT 39l & Tarl & aR A FRAR a1d R 3¢ ¢ | gHigav, fdegd Wdwrs ¢, 9re ag fadl
Hl Hid 9 U gidl 81 | U oy dobs| divT [dggd 3drd &l gHel & IR id ¢ | 374 9 SHfebig

G SYTaY & HRUMFfed gIdl & . 31 ge-T1adl Dl Akl ol ebdl ¢ Afe AT e Frae-t axd- i
SRIFd HYTH B - T ddb alv g ?

1. 38 gl _
2. haagad el (Rl i)
3. UMYl () b &N
4. ffq=TRd ARSI
1) 1
() 2
(3) 3
4) 4

ST N

1[Option ID=8701]
2[Option ID=8702]
3[Option ID=8703]
4[Option ID=8704]

Sl. No.127
QBID:3201027

Which of the following statement is logically equivalent to "No birds are mammals"?

1. Some birds are not mammals.
2. Some non-birds are mammals.
3. No mammals are birds.
4. All non-birds are mammals.
11
) 2




3) 3
(4) 4

FaiaRad @ U SF-91 HUH "Bis &l TR 761 o U dlivd U I A g 2

1. 5% vl TR T € |
2. % TR-Uel THYRI € |
3. Pls THYRI Tl 81 © |
4. g TR-Ual TAUR |

(1)1
() 2
(3) 3
(4) 4

1[Option ID=8705]
2[Option ID=8706]
3[Option ID=8707]
4[Option ID=8708]

Sl. No.128
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Which of the following is contrary to the statement "No mammals are birds"?

1. No birds are mammals.

2. Some mammals are birds.
3. All mammals are birds.

. Some birds are mammals.
11

(2) 2

(3) 3

) 4

"SBIg T el TE & By 9 Frafafad & 9 o fawdia 8

1. DTS gaf T TS ¢ |
2. O WAYRIUei g |

3. 9 YR Uel § |
4. 9 Ul WA T |
&

(3) 3

4) 4

g

1[Option ID=8709]
2[Option ID=8710]
3[Option ID=8711]
4[Option ID=8712]

Sl. No.129
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If the statement "Some animals are birds" is given as false then which of the following statements can be
immediately inferred to be false?

1. Some birds fly.
2. Some animals are not birds.
3. No animals are birds.
4. All animals are birds.
11
(2) 2
3) 3
) 4




e HUF "He SR U&H g 3 & w4 1 [¢a1 741 8 | dd FHfiRdd BI-81 Y dicblicid ©4 ¥ 3y
& &0 H AT fa1 o i g 2

1. PB Ui 3sd g |
2. g of-IaR Yajl 7gi g
3. PIg S Y&l ol g |
4. 9y SFAR U T |

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8713]

2[Option ID=8714]

3[Option ID=8715]
4[Option ID=8716]

Sl. No.130
QBID:3201030

Given below are two statements:
Statement I: According to Classical Indian School of logic (Nyaya) one can infer for oneself.

Statement II: According to Nyaya school inferring for oneself is a psychological process and does not require the
formal statement of the different members of a syllogism.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
(3) 3
4 4

BIERACAIC AR U
DY I: T (1) & HRAI ARG Ad b 3UR WL & (e1g Hi 3T fohar ot ghar g |

DY 11 : TR HA & AR W & [ SHIA T Ub AT WidhaT ¢ SR Uraie & (4 @Rl &
HIPIRD HYU DI GGl el gldl ¢ |

JWRIGd HY & 3Tdid |, A faU MU g el # gad I9gad IR DI 99 Difog ;

1. HYT IR I SH 98l § |
2. HYT IR M EH Tad g |
3. YT RN €. Al PUT TG E |
4. HYT 1A g, dich- YT 11 el g |
1) 1
) 2
(3) 3
4) 4

1[Option ID=8717]
2[Option ID=8718]
3[Option ID=8719]
4[Option ID=8720]

Sl. No.131
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is a set of rules that must be obeyed when transferring files across the Internet.

1. HTML
2. URL
3.HTTP
. ISP

1) 1

(2) 2

3) 3

(4) 4

el &1 U qg= g forgeh] e IR higdl & RIMH-R H fHardd: ure a1 S =1fgu |

B

1. @A
2.9 3R Td
3w ddl
4. 3 ug di

(1) 1
2) 2
(3) 3
4) 4
1[Option ID=8721]
2[Option ID=8722]

3[Option ID=8723]
4[Option ID=8724]

Sl. No.132
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The action of sending emails to fraudulently obtain another person's bank details is called:

1. Phishing
2. Pharming
3. Spamming
4. Smishing

1

2) 2

(3 3

(4) 4

fordl 3= afekd & dob-Hafid faarull & HYCYde U B g SHd ol DI B H hgdldl 6 ?

1. TopfRiT

WIfET

f
4. feafa

1) 1

(2) 2

(3) 3

4) 4

[V O]

1[Option ID=8725]
2[Option ID=8726]
3[Option ID=8727]
4[Option ID=8728]

Sl. No.133
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Which of the following are the advantages in using Solid State Drives (SSDs) rather than Hard Disk Drives
(HDDs) in Laptop computers?

A. SSD is much lighter than HDD.
B. SSD has a lower power consumption than HDD.
C. SSDs are thick compared to HDDs due to no moving parts.

Choose the correct answer from the options given below:

. A and B only
. Aand C only
.Band C only
.A,Band C
(1

(2 2

(3) 3

(4) 4

émc‘%? B H TS (3P SI3d (HDDs) 13Ul Wilds T S13d (SSDs) @ WIRT & fgfaRad &1 -4
AHE 2

A. HDD®! 3{U&T SSD e/ geab! gicll § |
B. HDD®! U SSD H & fdggd Wud gldi & |
C. HDDs &1 ga-I1H SSDs HI! Blall & diidh 398 iy el HRT -Tg! Uil Sidl g |

(e

i<l AU 7Y fdpedl | I 98 Iugdd IR &I 991 DI :

1. $ad A 3R B
2. Had A 3R C
3. HAAB 3R C
4.A.B3RC

1) 1
(2) 2
(3) 3
(4) 4

R

1[Option ID=8729]
2[Option ID=8730]
3[Option ID=8731]
4[Option ID=8732]

Sl. No.134
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Match List I with List IT

LIST I (Statement) %iﬁg
A [Base-10 (denary) value of the binarv number: 100000 I |100
[nternet service provider advertises a download speed of
B. |80 megabits per second. What 1s the time taken in I |14

seconds to download an 80 megabvte file 7
1A music file 1s 80 megabytes in size and MP3 file
icompression reduces the size of a music file by 90%. m ko
" |The number of MP3 files of the size after compression :
that can be stored on an 800 MB CD
[What 1s the denary (base-10) equivalent to the .

: e ) V. |8
hexadecimal digit E?

D.

Choose the correct answer from the options given below:

1. A-II, B-1V, C-1, D-TII

2. A-IIL, B-1V, C-I, D-II

3. A-L, B-1I, C-IV, D-III

4. A-1IL. B-1. C-IV, D-1II
1)1




) 2
3) 3
(4) 4

ol 11 YT 1 9 A eifo

T EE) = I @)
A [fe3Tem=T T - 100000 DT 89 - 10 (GURNTE | L [100
S-CX-c Wl Werdl 80 HT fae 2 Uid Y s &f
B. [S3als T FAIRT $L 51 U so WiMalge @1 | 1L [14
BISd ®l SI3TaIS B Hf Hal GHY T |
T GAiid BI3d TR | 80 HERE @i g 3R
MP3 TISd Udd- T BISe @ 90% ddh ®H B
C. [GaT 81 39 PR 3! a1 9 Ot 3 Bigal & m 32
gwﬁumsmmﬁﬁ%ﬁw%ﬂmww
HISTYRT 3 E b GHed GRNUR] (36-10) T&T1 Wk

i faU 71U A el | § Ul 3R &I 99 HIfu :

1. A-II, B-1V, C-1. D-III
2. A-II1, B-1IV, C-I, D-1I
3. A-1 B-II, C-IV. D-III
4. A-I11, B-1, C-1IV, D-II

1) 1

) 2

(3) 3

(4) 4

1[Option ID=8733]
2[Option ID=8734]
3[Option ID=8735]
4[Option ID=8736]

Sl. No.135
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Give below are two statements:
Statement I : CDs and DVDs are described as magnetic storage devices.

Statement II : Laser printers are made up of a print head consisting of nozzles that sprays droplets of ink onto the
paper to form characters.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

11

(2) 2

(3) 3

4 4




BIEECAIC AR U
DY 1 : Uiot 3R SIS TSI TUGU Yfekidl (IUHRUM) & Y H 9 9l g |

@Y I : ooR fUiex U8 319 2y 9 &4 gid § IS 31&R1 & A1 8 PHTS W Wigl $1 Bidh §al o1
fSSdId B dld JIoid aid © |

IR HUA & Alip H, Fid feU U f[dhedi § 9 el IR Bl 994 HIfoT
1. PYTISR IS 9d g |

2. HYF I AR I EH 3T § |
3. HYT I g, dfbd BYT I 3 TI © |
4 YT AT §, AT HYT I TAE |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8737]
2[Option ID=8738]

3[Option ID=8739]
4[Option ID=8740]

Sl. No.136
QBID:3201036

Give below are two statements:

Statement I : The Montreal Protocol to protect the Earth's ozone layer is to date the only United Nations
environment agreement to be ratified by every country in the world.

Statement II : Paris agreement establishes voluntary commitments by all parties to prepare, communicate and
maintain a Nationally Determined Contribution (NDC).

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.

4. Statement I is false but Statement II is true.
1) 1
(2 2
(3) 3
4) 4

TR FARTIUE:

DY : Yedl 1 ST URd b TRAUT & U Hifead WeTpld Sfeide 1 qaiarul Hatl e Y I
THHTA DRR ¢ (o1 134 & YdDH A B Pl g |

PUT I : TR HRIR AL TR R FeiRa Frmer (TSRl TaR S, Juftd H3 AR 3ReE0 o3 84
Tt el gRT Wiws P e agds RIfud Harg |

IR HUA D 3ATclD H, A fGT T [dhedi T ol IR D1 T9 Difore:

1. BYTIIR IS I © |
2. FYFI AR I SH 3T g |
3. HYT I o, AfbT YT I 3T ¢ |
4 FYTI AT §, AP HYT I T © |
1) 1
(2) 2
(3) 3
4) 4




1[Option ID=8741]
2[Option ID=8742]
3[Option ID=8743]
4[Option ID=8744]
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Give below are two statements:

Statement I : Thermal pollution, usually effluent from cooling systems of power plants or other industries, alters
water temperature in a lake or stream.

Statement IT : Humans also cause thermal pollution by altering vegetation cover and run-off patterns.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

11

(2) 2

(3) 3

4 4

BIERACAIC AR U

DY 1 : AT [degd YT rydT 3= Il ot wRiia yonferal I sfg:@ra, dardig uguor sl a1 oid
TaTE B 51 & a1 H gRad dR a1 |

DY 11 : A Wl Tl SHTTe 3R S Udlg! woyl I giRafdd $ drdig Ugyu Hdi g |

JWRIEKT HYH & 3ATdid |, i faU 70 fadhedi § Tl IR &1 999 Difoid:

1. BYTIIR IS 9T © |
2. HYFI AR I SH 3T g |
3. HYT I o, Al YT I 3T ¢ |
4. FYTI A . APAFYT N TAE |
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=8745]
2[Option ID=8746]
3[Option ID=8747]
4[Option ID=8748]

Sl. No.138
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Which of the following substances has the least Ozone Depleting Potential?

. Chlorofluorocarbons

. Hydro chlorofluorocarbons
. Carbon tetrachloride

. Halons

11

(2) 2

(3) 3

4) 4

fafeiad o 9 foog gard &t fieli sfgart GHIedl JIAdH ¢ 2

1. FARTFRIbTe
2. BIS S IAIRIURIBTa
3. BT CClHIRIS S

4. 509

W I =

=




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8749]
2[Option ID=8750]

3[Option ID=8751]
4[Option ID=8752]
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Potential regions of geothermal sites are:

A. Circum pacific belt
B. Himalayan Region
C. Delta

D. Subduction zones
E. Rann of Kachchh

Choose the correct answer from the options given below:

1. A. B and C only
2.B, Cand D only
3. A.Band D only
4. A, D and E only

1) 1
(2) 2
(3) 3
(4) 4

YT R & G &

A. GR-YNT &7 (BT URITGS de)
B. feATad &4

C. STl

D. FEge (Fdsavr) &

E. Fed &I 0]

i fAu T Aol H 9 gl SR &1 98- Sifu :

1. Fad A, B, 3R C
2. $HaAdB, C IR D
3. $Had A, B3R D
4. A A. D3R E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=8753]
2[Option ID=8754]
3[Option ID=8755]
4[Option ID=8756]
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International Solar Alliance (ISA) has its head quarter in:

1. United States
2. Switzerland
3. India
4, France

11

(2) 2




3) 3
(4) 4

STRIPIY HR e (S1STHY) 1 gEaTed fafdiad § 9 gl iR g -

1. TG I SHALIDT
2. RgeoRds
3. HRd
4.1

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8757]

2[Option ID=8758]

3[Option ID=8759]
4[Option ID=8760]

Sl. No.141
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National Council for Vocational Education and Training (NCVET), an overarching skills regulator, was notified
in the year:

. 2018
. 2015
. 1956
. 1961
1 1
(2) 2
(3) 3
(4) 4

U 3ffd 31=s1g PId faf g, APty sarqais fRia ¢d ufRienn gikyg (gafidisd) feg oy sifdyfed
ge di?

. 2018
. 2015
. 1956
. 1961
11
() 2
(3) 3
4 4

b b =

.

D

I

1[Option ID=8761]
2[Option ID=8762]
3[Option ID=8763]
4[Option ID=8764]

Sl. No.142
QBID:3201042

Which of the following are the ancient Indian texts on Astronomy?

A. Sankhyakarika

B. Siddhanta Siromani
C. Surja Siddhanta

D. Grihya Sutras

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. B and C only
3.A/B.Cand D
4. A, B and D only
1
) 2




3) 3
(4) 4

frgfafad § 9 @md - G RuUEH yRdg dy T 2

A, SIS
B. RyGid R0
C. 9ol Rrgia
D. 8 g

il AU 7Y fdpedl H I 98 Iugdd IR Bl 99 DI

1. $adA. B3R C
2. FAAB AR C
3.A.B,C3{RD
4. A A, B3RD

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=8765]
2[Option ID=8766]
3[Option ID=8767]
4[Option ID=8768]

Sl. No.143
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Which of the following are the characteristics of conventional learning?

A. Cost-effective

B. Teacher-centered learning
C. Learner oriented

D. Prescribed curriculum

E. Require regular attendance.

Choose the correct answer from the options given below:

1.C,D and E only
2.B.Dand E only
3. A.DandE only
4. A, B and D only

1) 1

2) 2

3) 3

(4) 4

fgfafad § 9 gRuR® i =1 fagva &1t g 2
A. ARTA-YHTdt

B. f1e/@ - Hid femH

C. SMETHSdl - 3™

D. iy area=mat

E. Frafia SoRufa emew®
=i 73U U [dedi | U Ul IR &I 99 BT :

1.%ad C,D 3R E
2. $dd B. D 3R E
3. Hdd A, D 3RE
4. HGAA. B3RD




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8769]
2[Option ID=8770]

3[Option ID=8771]
4[Option ID=8772]

Sl. No.144
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Higher order thinking skills can be promoted through:

1. Rote learning
2. Active learning
3. Passive learning
4. Tutorials

1

(2 2

(3) 3

(4) 4

3= i Add ®iee & Fufafad d 9 g gy uianfed foar s asdi g 2

. giehg-3HienTy
s aiferme

L N

=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8773]
2[Option ID=8774]

3[Option ID=8775]
4[Option ID=8776]

SlI. No.145
QBID:3201045

Who among the following was the Governor-General and the Viceroy who passed the acts of incorporation in
January 1857, which provided for the establishment of universities at Calcutta, Bombay and Madras?

. Lord Curzon

. Lord Dalhousie

. Lord Lansdowne
. Lord Canning
1) 1

(2) 2

3) 3

4) 4

fafeRad # 9 98 a7k SR 3R araeRIg S o7 fSr- SHaR] 1857 H GHTARA &1 Sifafas oiivd o,
ST arehl, ST SR AR H fayfaemerdt i RUITHT 1 71 YRR gl 2

1. @IS Hoid
2. dIS Sdgloll
3. S A9
4. @IS ST

1) 1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=8777]
2[Option ID=8778]




3[Option ID=8779]
4[Option ID=8780]

Sl. No.146
QBID:3201046

Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad meiw & ufgu iR Uy &1 3R i

TS ATaIa P WA Bl TH 3G Wi I H JIoT off Thdl § : 3D THER THH —oRH | RY H 5
g [REPRYAD Tl & “gae Udd eid” 3R “HPbS! ol HHY & aR H feradi ¢ | 3u-! ugdl R #.
CTsH SfTala-Ta1Ral & 37U Tided ddb Ugd Ul ol debx Siieieh SRl AT | 28 ardl fhar fob gar fe1 &l
LA GHIT & A i < 0= TR 70, Uiieh1 i fagre =gl o1 fb “H=iebrd ¥d 2R 31T 9o J
IRIRG =9 4 THd g1 Uh g & iR o, 534 30H! U 9ed of | elsH A foran f& siigia 3 foaq
oS UHM W dIb iU SH Thal fobdl 38 fadiil e RIS 9 9 FHidd g1 e o | d d e
DI U UY “Wd 3R AT & 9 H AT B ] Sl “adls AT dTd ARl & [deG 54ls 39l &l Uh
BIUUR & T H ST B IGT U | THS SHGIeH HH U HH diF RO I Ied@-1g 4T | GUH 39 g
R 1 I el 1 SR Wi, YA MR SHiD] GHER HeH] - 39 HE & 99 UHF UR $HaR o |
S, g gl yyarct ffafe J fSr Afgareit 9 4Rt e # HiT faan | gHTSiard! eHered! g |
il b1 GHgd 1 form o fab 9 {9y 61 A gon! g diffd 739 | HadCd! W6 39 3P Afgarefi # 9
U 21 o151 T8 314a1 7 S| BT eaied R TRUIRI &1 | dieR 3R Qg gaiitied dgayul, a8 06
Sficia gl A1 forg- SISl Dl U8 UgHrN B IR AoiaR fohd fdb I=Teh1 1ol RS gHRI A I3 3R I8 b 3¢
Didug Afdaal o1 HRT D1 =R HIAT T |

What was the initial response of western press to Ghandhiji's salt march ?

1. Skeptical
2. Appreciative
3. Deceptive
4. Neutral
1) 1
) 2
3) 3
(4) 4

TieliSit & 9P iaidd & Ui gigH! U0y o 3RIYD Hididhar a7 ot 2

1. 9l
2. U1 5B
3. YHB
4. FROg
1) 1
2) 2
(3) 3
4) 4
1[Option ID=8781]
2[Option ID=8782]

3[Option ID=8783]
4[Option ID=8784]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

fafaiad e & ufeu sk ue &1 3| i

TS Hiald Pl WA Bl U 3= Hid G HI FIST o Gl § : SERID I THMER UHE —RH | RY H 8
g [RGB RYdSD it & “gadl Udd e AR “Hdho! ol HHY & R H feradi ¢ | 3o+ gt Ruid 7,
CT3H SfTGI-Teh1Idl & 37U+ Tided deb Ugd Ul ] debx Siieeh SRl AT | 38 a1l fobar fob gar a1 &l
LA GHITG & A il <STH IR FR 70, Uiiest &l fare =gl o1 fb “H=1ebr ¥d SR 31 - J
IRIRG 9 T THA g1~ Th Uiig & Ui o, S 0! U 9ad of | el5H A foran f& afigrad 3 foaq
99 UHM IR B S U b I8 Tt —mes FRI=Ieeb 4 9 i g1 e Y | o d el
B Ueh UY “Tdl 3fR “Aedr & 9 H G HA @1 Sl “340T5 AT drd Al & (a8 3975 Sl &1 Th
BIUUR & T4 H ST B GT U | THE 3HiGlIe HH U HH di- HRUI I Iea-1d 4T | GH g4 g
YR BT & el B AR Widn, R 3R RIS GHER A1l H 38 A" Il 9 UHH IR Har [ |
IR, gg Ugcll xyardl Tfafafer o4t fores wfgarstl 5 Rkl T # 4 feran | gATSaret eHdred! Igiareay |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

How did Time magazine describe Gandhi's salt march in its first report ?

1. People would reject the march.
2. He would not be able to complete it.
3. The British supported the march.
4. Gandhiji had the physical strength to lead the march.
1) 1
) 2
(3) 3
(4) 4

<13H Ul A 3+t uyH RYid § it & TH9& 3fieiad &1 by gulH fdar 2

1. ST 3eId Bl 3EIHR B Sl |

2.9 39 G gl B UIu |
3. 3Tl A 3figIa o1 gAY T |

4. 1iefISf H A @) S A B B AR 2l o

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=8785]
2[Option ID=8786]
3[Option ID=8787]
4[Option ID=8788]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad e &1 ufgu ok us &1 IR gIioie

TS Hiald Pl WA Bl U 3= Hid G HI FIST o Gl § : SERID I THMER UHE —RH | RY H 8
g [RGB RYdSD it & “gadl Udd e AR “Hdho! ol HHY & R H feradi ¢ | 3o+ gt Ruid 7,
CT3H SfTGI-Teh1Idl & 37U+ Tided deb Ugd Ul ] debx Siieeh SRl AT | 38 a1l fobar fob gar a1 &l
LA GHITG & A il <STH IR FR 70, Uiiest &l fare =gl o1 fb “H=1ebr ¥d SR 31 - J
IRIRG 9 T THA g1~ Th Uiig & Ui o, S 0! U 9ad of | el5H A foran f& afigrad 3 foaq
99 UHM IR B S U b I8 Tt —mes FRI=Ieeb 4 9 i g1 e Y | o d el
B Ueh UY “Tdl 3fR “Aedr & 9 H G HA @1 Sl “340T5 AT drd Al & (a8 3975 Sl &1 Th
BIUUR & T4 H ST B GT U | THE 3HiGlIe HH U HH di- HRUI I Iea-1d 4T | GH g4 g
YR BT & el B AR Widn, R 3R RIS GHER A1l H 38 A" Il 9 UHH IR Har [ |
IR, gg Ugcll xyardl Tfafafer o4t fores wfgarstl 5 Rkl T # 4 feran | gATSaret eHdred! Igiareay |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

‘What was the first effect of the salt March ?

. People were confused.

. Gandhi's followers were reluctant.

. Gandhi was able to garner world attention

. Gandhiji's faith in Christianity got reinforced.
)1

(2 2

(3) 3

(4) 4

THS ScIa-T DI Tgell WHId &1 4T 2

1. ST yfHd ot |

2. el & St S g P ¥ |

3. 1iefl T T A 3D HR U o |
4. 3918 o H TS @1 ey yad ol Tl |

1) 1
(2) 2
(3) 3
(4) 4

e el D —

1[Option ID=8789]
2[Option ID=8790]
3[Option ID=8791]
4[Option ID=8792]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad i &1 ufgu ok ug &1 IR gIioie

IS Hialdd Bl WA Bl U = Hid § HI JIST o Gl § : 3ERID I THMER UHH —eRH | HRY H 8
g [RGB RYASD il & “gadl gdd eia” AR “Hdho! ol HHY & R H feradi ¢ | 3911 ggal RUie H,
CTsH STGId-Ih1IAl & 37U Tided deb Ugd Ul ol b Siieieh SRl AT | 38 ardl fhar fb gar a1 &l
LA GHITG & A il <STH 0= TR 70, Uit i fagre =gl o fb “H=1ebrd §d 2R 31 Ia- J
IRIRG T9 4 THY g1~ Th Uiig & iR 51, 534 301 U 9ad of | el5H A forn f& sfigiaq A foaq
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The salt march was the first nationalist movement to attract/incur

. The attention of American press

. comments by the European press

. The wrath of the British Government

. A large number of women participants
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.
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According to the passage, the most significant outcome of the salt march was that

1. The British were able to nullify the effects of the movement.
2. Gandhiji could not achieve his aim of breaking the salt law.
3. The British realized the need for devolution of power with Indians.

4. The salt march ended as a mere local movement of tokenism.
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